800-237-7634




TABLE OF CONTENTS

Adjusting Rods.........ccoeeiiiiiiininnn. 37-38, 66-73
Adjusting Rod Protective Caps........c.cccevvuenn... 65
Backing Plate...........coooiiiiiiiiii 75
Bearings........ccoviiiiiiii 76-78, 81-82
Bearings, ABS........ooiiiii, 108-115
Bearings, ROl End...........c.coooiiiiinanene 104-107
BIOCKS. ... 79-80, 83
Bracket Body..........coeviiiiiiiii 60
Bracket, Guide Rail..............ccceivin. 54-55, 61
Bracket, Lane Dividing...............oooovviiieneeens 35
Bracket, Quick-Change™ .......................... 58-59
Bracket, Stainless Steel............cccooeevvennnnen. 53-54
Bracket, Swivel...........ccooviiiiiiinen 57,60, 62
Bracket, Metal “L”..........ccciiiiiiiiiea a7
Clamp, Double Rail.............c.cooooiiiii, 49
Clamp, Self-Adjusting..........cocccoviiiiiiiiinn, 52
Clamp, Single Rall.............ccoooiiii, 50
Clamp, ViSe...ovieiiii e 52
CombinerRoller.........ccooviiiiiiiie 118
Compression Clip.....coovviieiiic e, 75
Corner Clip..ooeee e 35
Cross BIOCKS.......cevvviiiiiiiiieeee 36,39-40
EXTrUSIONS. ...t 26-28
Fast Frame Panel Clamps............cooeveevinnne, 92
FastRail...... ..o 29-35
Guide Rails.......ccooeiiii 4-25
Guide Rail Bracket..........ccooeiiivinnnnn. 54-55, 61
Hex Roll End Bearing...........ccccoovvviiiiininnnnn. 103
KNODS. .o 39, 64
NOSE PIOW.....eieiiiieiie e, 33-34
“L” Bracket, Metal..........coooiiiiiii, 47
“L” Bracket KitS.......oovviiiiiii e, 48
Lane Dividing Bracket............c.cccciieiiinnnnn.. 35
Levelers. ... ..o 121-132
Leveler, CUSIOM.......ciiviiiii e 133
Post Cap/BearingHead...............c.ccoevevnnnne 134
Protective Cap.......covoviiiiii e 65
PVCROllEr... .o, 99
Quick-Change™ Bracket.............c..cccevnie 58-59
RailS. ..o 4-25
Rail Clamp.....coooiiiii e, 36
Rail Splice.... .o 51
Ratchet Handles...............ccooeiiiini, 41-46, 48

Ring, Stacking.......c.cooooiiiiiii e, 64

RO ENAS. ..o 74
ROAMOUNES. ..., 56
Roll End Bearings...........ccccooiiiieinnnn. 104-107
Roll End Bearings, ABS.............cceeenenne. 108-115
Roll End Bearings, HEX.........ccccovviiiiiennnnts 103
Roll End for Metal Tubing, Nylon............. 116-117
Roller, Combiner...........ccccooiiiiiiiiiiiin, 118
Roller, PVC. ... 99
Roller Shaft, Round............cccoooiiiiiiii 100
Safety Cap...ooviiii i 65
Safety Handles...........coooiiiiiii, 93-95
Sensor MoUNt.......oovii i 51
Serpentine UHMW ..., 28
Side PIOW....cueiiiiiici e 33-34
SPACET ... et 64
Stacking RiNG....c.oviviii 64
Stub Shafts.......cocoiiii 101-102
SWIVEI Cap....ovoeieie i 62
Swivel Cap Assembly.........ccccooviiiiiiininnnns 62-63
Threaded Tube End............c.coieiiinnts 119-120
TUDE Cap.. e 118
Tube End, Threaded...............cceevvennnne. 119-120
Tube Profiles........coooiiii 84-85
UHMW EXtrusSionsS.........ccoovieiiiieiiiienennnen 26-28
UHMW, Serpentine.........cccoeveiiiiiiiiieneean, 28
Vise Clamp....oooeii i 52
Enhanced Buyers Guide...........c.......... 138-163

- with Valu Guide® Cross Reference



GUIDE RAILS

S \Z7

B

- Long-lasting low friction

/F UHMW-PE Profile
- Sanitary solid design seals out

/ contaminants
~—- Integrally formed sheath and profile for
superior fit
. Heavy duty 14-gauge stainless steel
sheath

< A general purpose guiding surface for minimum container contact.

« Low friction quality of this rail fosters production at higher speeds with minimal
noise, drag, or container damage.

= Provides rigid, streamlined support for various loads at a variety of speeds.

These USDA-approved designs eliminate the chance of contamination by sealing out
liquids and debris, making it easy to maintain a clean, sanitary surface.

Polyethylene UHMW-PE — a general purpose guiding surface for minimum container
contact; natural UHMW

N £
< Uhmw #703 Grey Lube — a polymer containing food grade lubricants to enhance
/ \ non-stick properties: gray UHMW
[
O
« Uhmw Black # 912 Static Dissipative — a UHMW polymer with permanent antistatic
'\ surface for applications desiring static electricity reduction; black UHMW
(
\ »,

Uhmw #321 Blue Slide — a dry, solid lubricant with special fillers and a superior
coefficient of friction; blue UHMW

e~
¥.'> I
.



SOLID GUIDE RAILS

Material: Polyethylene UHMW-PE with molecular density of 5,600,000 g/mol
14-gauge stainless steel sheath

ROUND ; MODIFIED
< g c E \> g‘é
22 B2 32
X ¥ -
v Y
067 in 067 n
(170 mm) (17.0mm )
PartNo. |Length|  Material Part No. [ Length Material
TSESSRS08 \ 8 TSESSMS08 | &
TSESSRS10| 10’ TSESSMS10| 10’ _
Stainless/UHMW : Stainless/lUHMW
TSESSRS12 \ 12 TSESSMS12 | 12
TSESSRS20| 20’ TSESSMS20 | 20’
A
FLAT i WIDE FLAT * b
: '\ e E e|E
< | E <|§ (2 23
= = = 2
2 "' '
Y Y
0.67 in 069in
(17.0mm ) (17.5mm)
Part No. |Length Material Part No. |Length | Material
TSESSFS08 | & TSESSWFS08 | 8
TSESSFS10| 10 _ TSESSWFS10| 10
Stainless/lUHMW Stainless/lUHMW
TSESSFS12| 12 TSESSWFS12 | 12/
TSESSFS20| 20 TSESSWFS20 | 20’




SOLID GUIDE RAILS

TSE SOLID LUBRICANT RAILS

A general purpose guiding surface for minimum container contact

Usage:
Material: Stainless steel housing with gray UHMW-PE containing food grade lubricants
MODIFIED
A A
& E < E ‘:
E|E S E S| E
= = "
Y Y
067in 067in
(170 mm) o (17.0mm)
QUND
Part No. Length Material Part No. | Length Material
TSESSRSMS08 & TSESSMSMS0 | 8
TSESSRSMS10 10’ _ TSESSMSMS1 | 10° _
Stainless/lUHMW = Stainless/UHMW
TSESSRSMS12, 12 TSESSMSMS1 | 12
TSESSRSMS20, 20’ TSESSMSMS2 | 20
i A
FLAT , WIDE FLAT i
E ‘ = ’E\ = E
£ E = | E S o 8 «
22 Sie SE i
= v v ‘
: L '
0.67in 069in
(17.0mm) (17.5mm)
Part No. Length Material
Part No. | Length | Material TSESSWESMS08 g
TSESSFSMS08| 8 TSESSWFSMS10| 10 |
, tainless
TSESSFSMSlO| 10 Stainless/UHMW TSESSWFSMS12| 12
TSESSFSM812| 12 TSESSWFSMS20| 20°
TSESSFSMS20| 20




SOLID STATIC DISSIPATIVE GUIDE RAILS

Usage: A general purpose guiding surface for minimum container contact
Material: Stainless steel housing with UHMW-PE surface.

ROUND ; MODIFIED
i
s|E s b
el 3= 56
Y v Y
067in =] 067 in
(17.0mm) T 70mm)
Part No. | Length Material Part No. Length Material
TSESSRSSDO08 | 8 TSESSMSSDO08 8
TSESSRSSD10 | 10° _ TSESSMSSD10| 10’ _
Stainless/lUHMW Stainless/lUHMW
TSESSRSSD12 | 12’ TSESSMSSD12| 12’
TSESSRSSD20 | 20’ TSESSMSSD20| 20’
A
FLAT . WIDE FLAT i
= ‘A = E = g
o 'E C"= — 2.5
v Y
Y
067in
(170 mm) = ik 069in
(17.5mm)
Part No. Length Material
Part No. Length Material TSESSWFSSDoq g
TSESSFSSDO08 | 8 TSESSWFSSD1d 10 Stninloss UMW
TSESSFSSD10| 10’ , ainiess
: Stainless/UHMW TSESSWFSSDlZi 12
TSESSFSSD12 12 TSESSWFSSqu 20’
TSESSFSSD20 | 20’




SOLID STATIC DISSIPATIVE GUIDE RAILS

A general purpose guiding surface for minimum container contact

Usage:
3/4” TEE 1” TEE
07— "‘—1.00—"—'
0.81 .81
e = 67
Part No. Length Material Part No. Length | Material
TSESSTS.7508 8 TSESSTS1.0008 8
TSESSTS.7510| 10’ TSESSTS1.0010 ‘ 10°
Stainless/UHMW Stainless/lUHMW

TSESSTS.7512 12’ TSESSTS1.0012 12’
TSESSTS.7520 20’ TSESSTS1.0020 20’

11/4” TEE

1 25—
|-‘67-—‘
Part No. | Length | Material
TSESSTS1.2508 | 8
TSESSTS1.2510 | 10’
Stainless/lUHMW
TSESSTS1.2512 | 12’
TSESSTS1.2520 | 20’




SOLID TEE GUIDE RAILS

1.6” TEE

Part No. | Length Material
TSESSTS1.6008 | g
TSESSTS1.6010 | 10’
Stainless/UHMW
TSESSTS1.6012 | 12’
TSESSTS1.6020 | 20’
2 1/4” TEE
o 2.25 -—

T
- k-

- 67—

Part No. Length Material
TSESSTS2.2508 8
TSESSTS2.2510 10° _
Stainless/lUHMW
TSESSTS2.2512 12’
TSESSTS2.2520 20’




SOLID TEE GUIDE RAILS

3/4” TEE 1” TEE

- 075~ -r [P 1.00=0]
1
|
081 81

| +
e |< 67

Part No. Length Material Part No. Length Material
TSESSTSMS.7508 8 TSESSTSMS1.0008 8
TSESSTSMS.7510 10 TSESSTSMS1.0010 10
: Stainless/lUHMW : Stainless/lUHMW
TSESSTSMS.7512 12 TSESSTSMS1.0012 12
TSESSTSMS.7520 20 TSESSTSMS1.0020 20
11/4” TEE

Part No. Length Material
TSESSTSMS1.2508 8’
TSESSTSMS1.2510 10’

Stainless/UHMW
TSESSTSMS1.2512 12’

TSESSTSMS1.2520 20’




TSE SOLID LUBRICANT TEE RAILS

1.6” TEE

T
R '

< 671

Part No. ‘ Length | Material
TSESSTSMS1.6008 \ g
TSESSTSMS1.6010 \ 10’

Stainless/UHMW
TSESSTSMS1.6012 \ 12’

TSESSTSMS1.6020 20

2 1/4” TEE

Part No. Length | Material
TSESSTSMS2.2508 8’
TSESSTSMS2.2510 10°
TSESSTSMS2.2512 12’
TSESSTSMS2.2520 200

Stainless/lUHMW




TSE SOLID LUBRICANT TEE RAILS

3/4” TEE 1” TEE 100
’-—0‘75—-1 l ; I
0,81 -8+1
g |
Lo.wa G
Part No. Length Material Part No. Length | Material
TSESSTSSD.7508| & TSESSTSSD1.0008 | &
TSESSTSSD.7510 10’ TSESSTSSDl.OOlO‘ 10’
Stainless/UHMW Stainless/UHMW
TSESSTSSD.7512| 12 TSESSTSSD1.0012 | 12
TSESSTSSD.7520| 207 TSESSTSSD1.0020 | 207
11/4” TEE
|—1.25—==]
< 67
Part No. | Length | Material
TSESSTSSD1.2508 | g
TSESSTSSD1.2510 | 10’
Stainless/UHMW
TSESSTSSD1.2512 | 12’
TSESSTSSD1.2520 | 20’




SOLID STATIC DISSIPATIVE TEE GUIDE RAILS

1.6” TEE

< 67~

Part No. Length | Material
TSESSTSSD1.6008 ‘ 8
TSESSTSSD1.6010 10’ .
Stainless/UHMW
TSESSTSSD1.6012 12’
TSESSTSSD1.6020 20’
2 1/4” TEE

|-— 2.25 -—l

81
|<.67>’

Part No. | Length | Material
TSESSTSSD2.2508 | 8
TSESSTSSD2.2510 | 107

Stainless/UHMW

TSESSTSSD2.2512 | 12’
TSESSTSSD2.2520 | 20’




SOLID STATIC DISSIPATIVE TEE GUIDE RAILS

SPLIT GUIDE RAILS

A general purpose guiding surface for minimum container contact.

Usage:
Material: Stainless steel housing with UHMW-PE surface.
I MODIFIED
— A
c|E [ i
5l =|E = >
S |E 5o g |
e E IS
! Y
o 067in 0.67in
ROUND " (17.0mm) (170mm)
Part No. | Length | Material Part No. | Length | Material
TsESSRO8|  ® TSESSMO08 | 8
, TSESSM10 10°
TSESSRIO | 10 Stainless/UHMW | ;| Stainless’lUHMW
TSESSR12 | 12 TSESSM12 | 12
TSESSR20 | 20 TSESSM20 | 20°
A
A
ELAT i WIDE FLAT s e
sl S| E G g
T v v
! Y
067 in 069in
(17.0mm) (17.5mm)
Part No. | Length | Material
Part No. | Length | Material TSESSWFO8| g
TSESSF08 | 8 TSESSWF10| 10° -
TSESSF10 10° , | Stainless/lUHMW
Stainless/lUHMW TSESSWF12 | 12

TSESSF12 12°
TSESSF20 20°

TSESSWF20 | 20’




LUBRICATED SPLIT GUIDE RAILS

A general purpose guiding surface for minimum container contact.

Usage:
Material: Stainless steel housing with UHMW-PE surface.
ROUND i
e é = CAE
G |2 = 2 5 3=
i v
Y
0.67in 0.67in
(17.0 mm) MODIFIED (17.0 mm)
Part No. Length Material Part No. | Length | Material
TSESSRMS08 8 TSESSMMSO08 | g
TSESSRMS10 10’ TSESSMMS10 | 10’
Stainless/UHMW Stainless/UHMW
TSESSRMS12 | 12 TSESSMMS12 | 12
TSESSRMS20 20’ TSESSMMS20 20’
A
A
FLAT A WIDE FLAT < =
c b g< 8|5
Z|E L 4 gt
= v Y
Y v
0.67 in 069in
(17.0mm) (17.5mm)
Part No. | Length | Material
Part No. Length Material TSESSWFMS08 | 87
TSESSFMS08 8 TSESSWFMs10 | 10 ey
’ Stainless/UHMW
TSESSFMS10 10 ,
, Stainless/UHMW TSESSWFMS12 | 12
TSESSFMS12 | 12 TSESSWFMS20 | 20
TSESSFMS20 20’




LUBRICATED SPLIT GUIDE RAILS
STATIC DISSIPATIVE SPLIT GUIDE RAILS

A general purpose guiding surface for minimum container contact

MODIFIED 0
~ A
= "
Y
067 in
(17.0 mm)
Part No. Length Material
TSESSMSDO08 8
TSESSMSD10] 10
Stainless/lUHMW
TSESSMSD12| 12
TSESSMSD20 ) i
Sl<
WIDE FLAT g
Y
0.69in
(17.5mm)
Part No. Length Material
TSESSWFSD0§ &
TSESSWFSD1g 10’
Stainless/lUHMW
TSESSWFSD12 12
TSESSVVFSqu 20

Usage:
Material: Stainless steel housing with UHMW-PE surface
ROUND i
c|E
3=
Y
0.67in
(17.0mm)
Part No. | Length Material
TSESSRSD08| g
TSESSRSD10| 10’
Stainless/lUHMW
TSESSRSD12| 12’
TSESSRSDZO’ 20’
A
FLAT # i
c|E <|E
e "'
Y
0.671in
(17.0mm)
Part No. Length Material
TSESSFSDO08 8’
TSESSFSD10 10’
Stainless/lUHMW
TSESSFSD12 12’
TSESSFSD20 20’




321 Blue Lube GUIDE RAILS

Material: Master Slide® with superior coefficient of friction; a dry, solid lubricant
that is FDA-compliant

ROUND i MODIFIED
-~ A
c|E — A
&S| E(g = |E
= 22 g
= v
' Y
il - 0.67in
(17.0mm) - (170mm)
Part No. ‘ Length | Material Part No. |Length Material

TSESSMSB08| &
TSESSMSB10| 10
TSESSMS12 | 12
TSESSMS20 | 20°

TSESSRSB0§| 8
TSESSRSB10| 10°
TSESSRSB12 12
TSESSRSB20| 20

Stainless/UHMW Stainless/lUHMW

A

FLAT i WIDE FLAT = -
£ I 5| 3E
s|E = |E a2 Slz
S €= = 8
= "' Y
Y Y
0.67in 069in
(17.0mm) i r (17.5mm)
Part No. Length Material Part No. | Length | Material
TSESSFSBO08 8 TSESSWFSBO0 | 8
TSESSFSB10| 10 TSESSWFSBL1 | 10°
- Stainless/UHMW

Stainless/UHMW
TSESSWFSB1 | 12’

TSESSFSB12| 12
TSESSWFSB2 | 20’

TSESSFSB20| 20




321 Blue Lube GUIDE RAILS

1.00in

3/4” TEE ize 1” TEE (254mm)
(19.0mm)
l i A
) <|E <[ E
[’ 2= 3 =
Y
0.67n
(17.0mm) 067 in
(170mm)
Part No. Length | Material Part No. |Length Material
TSESST.7508 g TSESST1.0008 | g
TSESST.7510 10° _ TSESST1.0010 | 10° .
Stainless/UHMW Stainless/UHMW
TSESST.7512 12’ TSESST1.0012 | 12’
TSESST.7520 20’ TSESST1.0020 | 20’
”»
11/4” TEE 195
— — -
(31.7mm)
A
< |E
2|5
Y
067in
(17.0mm)
Part No. Length Material
TSESST1.2508 8
TSESST1.2510 10’ _
Stainless/UHMW
TSESST1.2512 12’
TSESST1.2520 20’




SPLIT TEE GUIDE RAILS

1.6” TEE oL -

(40.0 mm)

g K

0.83in
(21.1mm)

067 in
(170 mm)

Part No. | Length Material

TSESST1.6008 | g

TSESST1.6010 |0 _

Stainless/UHMW

TSESST1.6012 | 12’

TSESST1.6020 | 20’
2 1/4” TEE

1% 225in =
(5715mm )
A
£|E
Y
067in
(170 mm )
Part No. Length Material

TSESST2.2508 8

TSESST2.2510 100

Stainless/UHMW

TSESST2.2512 12’

TSESST2.2520 20’




SPLIT TEE GUIDE RAILS

oo - H0R.
3/4” TEE r'—”";%s-lg")—"F' 1” TEE (254 mm)
- E 1
sE H0
e =t
Q.§7|n —\
(17.0mm) 067in
————————
(17.0mm)

Part No. | Length | Material Part No. Length| Material
TSESSTMS.7508| 8’ TSESSTMS1.0008 8’
TSESSTMS.7510| 10° TSESSTMS1.0010 ‘ 10

Stainless/UHMW Stainless/lUHMW
TSESSTMS.7512| 12’ TSESSTMS1.0012 12’
TSESSTMS.7520| 20’ TSESSTMS1.0020 20’
11/4” TEE 195in
r (317 mm)
~ 067in
(170mm)
Part No. | Length | Material
TSESSTMS1.2508 | g
TSESSTMS1.2510 | 10’
Stainless/UHMW
TSESSTMS1.2512 | 12’
TSESSTMS1.2520 | 20




LUBRICATED SPLIT TEE GUIDE RAILS

1.6” TEE i
j== .ovin -l
B+ (40.0 mm )
|
(170 mm)
Part No. Length | Material
TSESSTMS1.6008 8
TSESSTMS1.6010 10°
Stainless/lUHMW
TSESSTMS1.6012 12’
TSESSTMS1.6020 20’
21/4” v 2.25in -
r (57.15mm) '}
A
[ =
s E
& =
Y
08T _
(17.0mm)
Part No. Length Material
TSESSTMS2.2508 8
TSESSTMS2.2510 10° _
Stainless/lUHMW
TSESSTMS2.2512 12’
TSESSTMS2.2520 20°




STATIC DISSIPATIVE SPLIT TEE GUIDE RAILS

34" TEE o omn 1" TEE? . _lmn

(19.0mm)

211 mm)

0.83in
(21.1mm)

0.83in

(

0.67 in

(17.0mm)

0.67in

(17.0mm)

Part No. | Length Material Part No. |Length| Material
TSESSTSD.7508| g TSESSTSD1.0008| g
TSESSTSD.7510] 10 , TSESSTSD1.0010| 10° ,

Stainless/lUHMW Stainless/UHMW
TSESSTSD.7512| 12’ TSESSTSD1.0012| 12’
TSESSTSD.7520| 20 TSESSTSD1.0020| 20’
11/4” TEE
1.25In
».
(31.7mm)
i
&|E
HE
Y
067in
(17.0 mm)
Part No. Length Material
TSESSTSD1.2508 8
TSESSTSD1.2510 10’ _
Stainless/UHMW
TSESSTSD1.2512 12’
TSESSTSD1.2520 20’




STATIC DISSIPATIVE SPLIT TEE GUIDE RAILS

1.6” TEE "

- - >
(40.0 mm)

X
&

(21.1mm)

067 in

(170 mm )

Part No. Length | Material
TSESSTSD1.6008 \ g
TSESSTSD1.6010 10’

Stainless/lUHMW

TSESSTSD1.6012 12’
TSESSTSD1.6020 20’
2 1/4” TEE

L 225In =]

(57.15mm)

083in
(211 mm )

0.67in

(17.0 mm)
Part No. | Length | Material
TSESSTSD2.2508 | g
TSESSTSD2.2510 | 10 .
Stainless/UHMW
TSESSTSD2.2512 | 12’
TSESSTSD2.2520 | 20’




- 1,25 —]
25—

|

=y

.38

Ly

?

<.67—| .57—'
Part No. Length | Material
Part No. Length | Material TSESSLTSL0x38MS10[ 10" |
TSESSLTS1.0x.3810| 10’
x:3810 | SS/UHMW TSESSLTS1.0x.38MS20| 20
TSESSLTSL.0x.3820| 20’
=y
3] 2
81 1 D’
<67
Part No. Length | Material
TSESSLTS1.0x.2810| 10’
SSIUHMW
TSESSLTS1.0x.2820| 20

SPLIT EDGE GUIDE

y

1.25

.25—>-|

-

For use with Rexnord® 8505 belting height



SPLIT EDGE GUIDE

: 1.25 ! 1.25
L— 1.00 —= —— 1.00 —=
| - L T |
? i
37 | e 3%
71 1 ‘ 71 &
1.19 A 1.19 R
; a i (E)
- .66 - 66 —=—
Part No. | Length | Material Part No. Length | Material
TSESSLTl.Ox.3810| 10° TSESSLTl.Ox.38MSlO‘ 10°
SS/UHMW SS/UHMW

TSESSLT1.0x.38MS20| 20’

TSESSLTl.Ox.3820| 20’

Part No. Length | Material
TSESSLT1.0x.2810 10’

TSESSLT1.0x.2820 20°

SS/UHMW

For use with Rexnord® 8505 belting height



UHMW EXTRUSIONS

*NOTE: Extruded profiles stored in coils will tend to retain a certain deformation when uncoiled.

A
CRail Cover Flat CRail Cover °l2 = ‘_:_
- 81 —‘ ~— 81— I j Jés = &
] ol 92
t | ~.09 il S 1 ~.09 ' l V- =
25 [ #l‘_{_ 25 | | 1 : [W '
k5= b k524 Tiamm)

Part No. Ft Part No. Ft Part No. Ft
TSEP81310 10 TSEP813F10 10 TSEA60010 10
TSEP81320 20 TSEP813F20 20 TSEA60020 20

e ———
3/4” Bar Clip 1”7 Bar Clip
i__ 75 - ’»1.13«‘_[_20
W11 '1’- ~.13 J |
1 i E 94 '
A8 T IT——T ' I S T
13- - 66 -
Part No. Ft Part No. Ft
TSEP18CC100 | 100* TSEP7GAHD10| 10
Bar Clip Bar Clip Bar Clip
4-1 S0 = - 75
PR3 M o i it ijr.ss
gt =y =1 )
= LT AR Lk [ W T / '
38 { | .50 \\ [ /.38 63 \\ [/ 50
. i | ‘. 50 l — —i_ | “-,‘\ |II JII I|,"II \
i | . | i
-3
Part No. Ft Part No. Ft Part No. Ft
TSEP18BC100 | 100* TSEP14BC100 | 100* TSEP38BC100 | 100*
3/8” Full Round 1/2” Ful-Round 3/4”____!__—_lalf. Round
||,- r, ‘\I ‘.I l | | [ L _I'. 1
o ] ) L e
\ ¥ ‘\l/ \lf N 50 =
- 38 - =20 - L*-Js -
69 — ~—1.00
= .56 = '
Part No. Ft Part No. Ft
Part No. Ft TSEP12RD100 | 100* TSEP34HR100| 100




TSEP38RD100

100*

UHMW EXTRUSIONS



2” Jleg
‘ 2 n
- |
53 =
i |-._|'".:— _]9]_
24
Part No. Ft

TSEJ420018810 10

UHMW EXTRUSIONS

3” JLeg

[ 3.00

24—

Part No. Ft
TSEJ430018810 | 10

1/2” x 1 1/2” Guide

1/4” x 2” Guide _
Rail Snapon Rail Snapon
5 - 1.50 -‘

i | ], p -
' ‘ : ‘ 50
25 ! 1

i | M— . ' |
Part No. Ft Part No. Ft

TSEP2520NBC10 10

TSEP5015BC10| 10

17 x 1” Guide
Rail Snapon

— 1.00 —

_I_r
1.00
' (R | 1
-
13

Part No. Ft
TSEP1x1BC10 10

11/4” x 11/4”
Guide Rail
Snapon

d

Part No. Ft

TSEP125125BC10[ 10

1/4” x 17 Guide
Rail Snapon

L

5[
* |

= 1.00 -i
_| ‘-.11
i

Part No. Ft
TSEP2510NBC10| 10

1/2” x 2” Guide
Rail Snapon
2.00 e
j—r_- 18 Fi F
a3
Part No. Ft

TSEP5020BC10| 10

11/2” x 1 1/2”
Guide Rail
Snapon
_i-_ 1.5 —
r 4 7
|
1.?(!
Sl - 1I_L
13-
Part No. Ft

TSEP1515BC10 | 10




UHMW EXTRUSIONS

2” X 2”

11/2” x 2” . .
Guide Rail Snapon

Guide Rail Snapon

.00
I*Z.OD
; 2x2 3
1.50 ’
| ‘ I A3 i I I
.13 I 2
Part No. Ft Part No. Ft
TSEP1520BC10 | 10 TSEP2x2BC10 10
1/2” x 17 Bar Cap 9/16” x 1 1/8” Bar Cap 1” x 1” Bar Cap
- 40 —| 40 |~
] 'ﬁ 40 3 TR e 25 .
25 — — b1l
e e b * 113 i o— |
I | i 0 : 50 A I_ g _‘L | ‘ 1.00
: — - 13j_|_! - A3 B ot
-.13 R - ¥ [ | |
Part No. Ft Part No. Ft Part No. Ft
TSEP5010BC10 | 10 TSEP58115BC10 10 TSEP1010BC10 | 10
—=— 546 —~—
? r’—\[ Zt 6 Part No. Ft
7f4 [ jﬁ TSESERP123410.5 | 10.5




— 95—

]
[t

: 1.45 14

Sl
Ny

| .48‘ -

- 55—

- Easy assembly with stand-
ard hex head bolts

- Stainless steel pins
« On-site bendable

e Cut to desired length
« Made in USA
« FDA-accepted

« More beads per 10’ section
than leading competitor

Our TSE lane divider provides
superior guides for PET bot-
tles and shrink-wrapped con-
tainers. Mounting is easy with
a standard hex head bolt. No
special hardware required! Cut
to length and may be bent on-
site. Minimum bending radius
in either direction is 24”. Oper-
ating temperature range:

10° F to 180° F.

SINGLE FASTRAIL

Part No.

Length
(Ft)

Plastic
Axles

Steel
Axles

TSE687S2

TSE687S2SA

TSE687S3

TSE687S3SA

TSE687S4

TSE687S4SA

TSE687S5

TSE687S5SA

TSE687S6

TSE687S6SA

TSEG87S7

TSEG87S7SA

TSE687S8

TSE687S8SA

TSE687S9

TSE687S9SA

Ol O| || NI N O ool |l | | W WD

TSE687S10

=
o

TSE687S10SA

[EEN
o




SINGLE FASTRAIL

/T [F =

LO88L.]
X

Part No. Length | Plastic Steel
- Easy assembly with stand- (Ft) Axles Axles
ard_hex head bo!ts TSE687D2 > 0
» Stainless steel pins
» On-site bendable TSE687D2SA 2 .
. TSE687D3 3 a
e Cut to desired length
] TSE687D3SA 3 a
« Made in USA
TSE687D4 4 i
- FDA-accepted TSE687D4SA 4 0
e More bea.ds per 10’ §ecti0n TSE687D5 5 0
than leading competitor
TSE687D5SA 5 i
TSE687D6 6 i
TSE687D6SA 6 i
.. ) TSEG687D7 7 i
Our TSE lane divider provides
superior guides for PET bottles TSE687D7SA 7 I
and shrink-_wra_pped contain- TSES7DS 8 0
ers. Mounting is easy with a
standard hex head bolt. No TSE687D8SA 8 f
special hardware required! Cut TSE687D9 9 0
length and m nt on-
to length and may be bent o TSE687DISA 9 0
site. Minimum bending radius
in either direction is 24”. Oper- TSE687D10 10 0
ating temperature range: 1
10° E to 180° E. TSE687D10SA 0 i




L
|

T
3

DO,

¥

e

N

- Easy assembly with stand-
ard hex head bolts

» Stainless steel pins
» On-site bendable

» Cut to desired length
 Made in USA
 FDA-accepted

« More beads per 10’ section
than leading competitor

Our TSE lane divider provides
superior guides for PET bottles
and shrink-wrapped contain-
ers. Mounting is easy with a
standard hex head bolt. No
special hardware required! Cut
to length and may be bent on-
site. Minimum bending radius
in either direction is 24”. Oper-
ating temperature range:

10° F to 180° F.

ﬂb

i e P o o

SINGLE-DOUBLE FASTRAIL

T
Part No. Length | Plastic Steel
(Ft) Axles Axles
TSE687SD2 2 i
TSE687SD2SA 2 a
TSE687SD3 3 i
TSE687SD3SA 3 a
TSE687SD4 4 a0
TSEG687SDA4SA 4 0
TSE687SD5 5 i
TSE687SD5SA 5 d
TSE687SD6 6 i
TSE687SD6SA 6 ad
TSE687SD7 7 i
TSE687SD7SA 7 d
TSE687SD8 8 ad
TSE687SD8SA 8 a
TSE687SD9 9 a
TSE687SD9SA 9 a
TSE687SD10 10 a
TSE687SD10SA 10 a




]
TTw
ik

1
BOSS

D
LIBES.L{

- [Easy assembly with stand-
ard hex head bolts

» Stainless steel pins
» On-site bendable

« Cut to desired length
« Made in USA
- FDA-accepted

- More beads per 10’ section
than leading competitor

Our TSE lane divider provides
superior guides for PET bottles
and shrink-wrapped contain-
ers. Mounting is easy with a
standard hex head bolt. No
special hardware required! Cut
to length and may be bent on-
site. Minimum bending radius
in either direction is 24”. Oper-
ating temperature range:

10° F to 180° F.

A

18

é

SINGLE-DOUBLE FASTRAIL

Part No.

Length
(F)

Plastic
Axles

Steel
Axles

TSE687DD2

0

TSE687DD2SA

TSE687DD3

TSE687DD3SA

TSE687DD4

TSE687DD4SA

TSEG687DD5

TSE687DD5SA

TSEG687DD6

TSE687DD6SA

TSEG87DD7

TSEG687DD7SA

TSE687DD8

TSEG687DD8SA

TSE687DD9

TSE687DD9SA

Ol V0| 0| NI N]jojlo|lo|lo| | |l W] W|DN

TSE687DD10

=
o

TSE687DD10SA

[EEN
o




DOUBLE-DOUBLE FASTRAIL NOSE PLOW

Material: Acetal

292

2] |

1.97 — 95—

Y | ‘
e;z& /‘(/J 1.113 < Il-f | £.09u|n
394 =

| Part No.

TSE687DDNP

SINGLE-DOUBLE FASTRAIL SIDE PLOW

Material: Acetal

3.50

@.35—

- 875 — Part No.

-—2.00

TSE687SDSP




DOUBLE-DOUBLE FASTRAIL NOSE PLOW

DOUBLE FASTRAIL NOSE PLOW

Material: Acetal

x4 7l2
_'L 1.90
@tﬁﬁ/@i 143 Part No.
| I TSE687DNP
1.97 — 95—
.09
< B
SINGLE FASTRAIL SIDE PLOW
Material: Acetal
' 2,75 i
95
(5
P35
L 130 Part No.
TSE687SSP

1.75 i 1.00 —




FASTRAIL CORNER CLIP

Material: Stainless steel

1.00 Part No.
—{.34 |- TSE04001

LANE DIVIDING BRACKET

Material: Stainless steel

[—.83 —] - 79
T T )

B - .35 O

Part No.

g TSE687LDB516
2.87 + 1.97
TSE687LDBM8
5/16




FASTRAIL CORNER CLIP

CROSS BLOCK

Material: Stainless steel

Features: A very versatile series of cross blocks. Choose from the standard two-knob version for
easy horizontal and vertical adjustment; the one-knob, one-nut version for adjustment of
one side; or the two-nut version which allows for permanent positioning.

Patent
#D591,587
2.34
D—
S IR L
77 N\ | ! 1.42
130 %&(v ” = %l
= TS
Part No. Part No. Part No. Shaft Diameter Knob
with 2 knobs with 1 knob & 1 nut with 2 nuts Color
TSE52112x12 TSE521KN12x12 TSE521NN12x12 12 17/%( i(zlézmm
1/2” x 5/8”
TSE52112x58 TSE521KN12x58 TSE521NN12x58 12.7 x 15.87 mm Black
TSE52158x58 TSE521KN58x58 TSE521NN58x58 15 857/?< 1(555/3% mm

Also see stainless steel version on page 39!

RAIL CLAMP

Part No. Part No.
TSE51901 TSE52201

innif _ T
@ \—r‘ @ 1.30 L L 1.30
\_1 | N7 i T ]

R17 —

b {33 1.04
T s LT




2 Dia. Length Thread
U K::] Part No. - - -
o 129in - in in mm in
(324mm) B| = E
B Length 086in = £|2 TSE524J3516 3 76.2
(142 mm) -
+—ij TSES524J35516 5 127.0
H @ i A\l 5/16_18
[ 043in TSE524J7516 7 177.8
(32mm)
TSE524J9516 9 228.6
1/2
TSE524J338 3 76.2
TSE524J538 5 127.0
3/8-16
TSE524J738 7 177.8
TSE524J938 9 228.6

5/8” DIA. JOINTED ADJUSTING ROD, TAPPED

Material: Stainless steel

—_—
= Dia. Length Thread
U K::] Part No. - - -
e 1.291n = n n mm N
(324mm) § =|E
Length 056in = £[2 TSES32J4516 4 101.6
(42mm) .~ | TSE53206516 6 | 152.4
ﬂ @ i Y 5/16-18
0.13in TSES32J8516 8 203.2
(32mm)
TSE532J10514 10 | 254.0
5/8
TSE532J438 4 | 1016
TSE532J638 6 | 152.4
3/8-16
TSE532J838 8 203.2
TSE532J1038 10 | 254.0




1/2” DIA. JOINTED ADJUSTING ROD, TAPPED

Material: Stainless steel

LASER-NUMBERED 1/2”JOINTED ADJUSTING ROD

Material: Stainless steel
Laser numbering available in imperial or metric measurements.

Dia. Length Thread
Part No. - - -
n n mm n
LNTSE524J351 3 | 762
LNTSE524J551 5 |127.0
. 5/16-18
LNTSE524J751 7 |1778
( (o LNTSE524J951 9 |2286
129in _F 1/2
" p4mm ® < E |LNTSE5243338 3 | 762
- s o L. 0% £ SIE || NTSES241538 5 |127.0
(142mm) ; “’ 3/8-16
ﬂ piis [ T4 |LNTSES240738 7 |1778
e LNTSE524J938 o [2286

LASER-NUMBERED 5/8” JOINTED ADJUSTING ROD

Material: Stainless steel
Laser numbering available in imperial or metric measurements.

Dia. Length Thread
Part No.
N N mm N
LNTSE532J4516 4 | 1016
LNTSE532J6516 6 | 152.4
5/16-18
LNTSE532J8516 8 | 203.2
C (Gl LNTSE532J1051 10 | 254.0
1.29in . 5/8
" (%4mm) B = E |LNTSE532)438 4 | 1016
Length = 2
» engt of lesl (1‘1525;1“) = =2 |LNTSE532J638 6 | 152.4
3/8-16
[ iz 15 "1 |INTsEs320838 8 | 203.2
013in
T (32mm) LNTSE532J1038 10 | 254.0




CROSS BLOCK

Stainless steel

Material:
" 420in 3
(106.7 mm)
231in
(58.7mm)
‘A
5|
siE
=
0.66 in L. .
(16.8mm) (254 mm)
Part No. Part No. Part No. Shaft Diameter
with 2 knobs with 2 nuts with 1 knob
TSE521S12x12 | TSE521SNN12x12 | TSE521SKN12x12 12" x 1/2°
12.7 x12.7 mm
TSE521S12x58 | TSE521SNN12x58 | TSE521SKN12x58 1/2” x 5/8°
12.7 x 15.87 mm
TSE521S58x58 | TSE521SNN58x58 | TSE521SKN58X58 5/8" x 5/8"
15.87 x 15.87 mm

TSEZ281 can be used independently or as replacement part for TSE521 cross blocks.

M10

Part No. Thread

10 mm

TSE280M10

1.67

—={.50 ’r-—

M10
‘\ )
K 1.95
b .

Part No.

Thread

TSE281M10H

10 mm




CROSS BLOCK

Material:  Stainless steel
Usage: For horizontal or vertical adjustment.
Supplied with stainless steel 1/4-20 bolts and nickel-plated brass nuts.
A
[~
47 T
| I H
DIAMETER — DIAMETER
e .J )—}\ \

|19

L_i /-

1/4-20-
Part No. A B C D Shaft Diameter
1/2” x 1/2”
TSE52012x12 127 x12.7 mm
2.76” 1.00” .88” 917 1/2” x 5/8”
TSES2012x58 70.10 mm | 25.4 mm | 22.35 mm | 23.11 mm 12.7 x 15.87 mm
5/8” x 5/8”
TSE52058x58 15.87 x 15.87 mm
Usage: Allows for easy positioning of angled or curved guide rails.

Material: 304 stainless steel
|| 20530in
Y (@127 mm)
4=
£l E
| E
= e
Ol -
ot [s)
o ’é‘ o Part No. Shaft Length O0.D
w| E TSE215612T 6”
=05
S| m TSE215912T 9’ 1/2”
v TSE2151212T 12’
\ —




FEMALE RATCHET HANDLES—INCH

A |
B
Pl
C
Thread
Black Female Inch | Orange Female Inch|Zinc | SS A B C Thread
Threads Threads
TSERH10BKFP1032 10-32
D ” ” ”
TSERH10BKFP1420 1.63 1.21 42
41 mm [30mm| 10 mm
TSERH10BKFS1420 | TSERH100RFS1420 0 1/4-20
TSERH20BKFP1420
D ” ” ”
TSERH20BKFP51618| TSERH200RFP5161 2.16 1.39 .53
3 54mm [35mm| 13 mm 5/16-18
TSERH20BKFS51618 0
TSERH30BKFP1213 | TSERH300RFP1213 1/2-13
TSERH30BKFP3816 | TSERH300RFP3816 | [ 3/8-16
TSERH30BKFP51618| TSERH300RFP5161 ., . . |5/16-18
8 3.13 1.82 72
TSERH30BKFS1213 | TSERH300RFS1213 omm f4agmm I8 mm ), )4
TSERH30BKFS3816 | TSERH300RFS3816 0 3/8-16
TSERH30BKFS51618| TSERH300RFS5161 5/16-18
8
TSERH40BKFP1213 0 3.94" | 2.33” .98” 1/2-13
100 mm | 60 mm | 24.9 mm

41



FEMALE RATCHET HANDLES—INCH

4

Thread

Black Male Inch Orange Male Inch Zinc| SS A B C | Thread
Threads Threads

TSERH10BKTSE102420 79 | 10-24
TSERH10BKTSE103215 163" | 1.21" | g9

41 mm |30 mm 10-32
TSERH10BKTSE103220 0 79
TSERH10BKTSE142020 | TSERH100RTSE142020 79
TSERH10BKTSE142025 216" | 1.39" [ gg

54 mm |35 mm 1/4-20
TSERH10BKMS142020 | TSERH100RMS142020 79
TSERH10BKMS142025 | TSERH100RMS142025 0 .98
TSERH20BKTSE516181 59
TSERH20BKTSE516182 | TSERH200RTSE5S16182 313 | 182 | 79
TSERH20BKTSE516183 | TSERH200RTSE516183 79mm |46 mmfq19g
a a 0
TSERH20BKTSE516184 | TSERH200RTSE516184 1.57
TSERH20BKTSE516185 | TSERH200RTSE5S16185 1.97
TSERH20BKMS5161815| TSERH200RMS5161815 394" | 2.33" | 59 |5/16-18

100 mm | 60 mm
TSERH20BKMS5161820| TSERH200RMS5161820 79
TSERH20BKMS5161830| TSERH200RMS5161830 g | 163 | 121" 1 g

41 mm |30 mm
TSERH20BKMS5161840| TSERH200RMS5161840 1.57
TSERH20BKMS5161850 2.16” | 1.39” | 1.97

54 mm |35 mm

42



MALE RATCHET HANDLES—INCH

4 SRS

Thread

Black Male Inch

Orange Male Inch

Threads Threads Zinc | SS A B C | Thread
TSERH30BKTSE38162 79
0 2.16" | 1.39”
TSERH30BKTSE38163 | TSERH300RTSE381630 54mm [35mm|q1g
0
3/8-16
TSERH30BKTSE38164 | TSERH300RTSE381640) 1.57
0
TSERH30BKTSE38165 | TSERH300RTSE381650 [ 1.97
0
TSERH30BKTSE12133 | TSERH300RTSE121330) 1.18
0 3.13" | 1.82”
TSERH30BKTSE12134 7omm 146mm (1 57| 15 43
0
TSERH30BKTSE12135 1.97
0
TSERH300RMS381620 79
TSERH30BKMS381630| TSERH300RMS381630 3.94” | 233 [1.18
100 mm | 60 mm
i 3/8-16
TSERH30BKMS381640| TSERH300RMS381640 1.57
TSERH30BKMS381650| TSERH300RMS381650 1.97
TSERH40BKTSE12133 3.13" | 1.82" [ 1.18
0 79 mm |46 mm
TSERH40BKTSE12134 0 157| 1/2.13
0
TSERH40BKTSE12135 1.97
0

43



MALE RATCHET HANDLES—INCH

Thread

Black Female

Orange Female

Metric Metric Zinc| SS A B C Thread
TSERH10BKFPM5 M5x.08
0
TSERH10BKFPM6 M6x1
1.63" | 1.21” 42"
TSERH10BKFSM5 | TSERH100RFSM5 41 mm | 30 mm | 10 mm M5x.08
0
TSERH10BKFSM6
M6x1
TSERH20BKFPM6
0
TSERH20BKFPMS M8x1.25
2.16” | 1.39" 53"
TSERH20BKFSM6 | TSERH200RFSM6 S4mm [ 35mm | 13 mm M6x1
0
TSERH20BKFSM8 | TSERH200RFSMS M8x1.25
TSERH30BKFPM10) M10x1.5
TSERH30BKFPM12] 0 M12x1.75
TSERH30BKFPM8 3.13" | 1.82° 72" M8x1.25
79 mMm | 46 mm | 18 mm
TSERH30BKFSM10] TSERH300RFSM10 M10x1.5
0
TSERH30BKFSMS M8x1.25

44



MALE RATCHET HANDLES—METRIC

Thread

Black Male orange Male | zinc| ss| A B C Thread
TSERH10BKMPM515 MS5x.0815mm
TSERH10BKMPMS520 M5x.0820mm
TSERH10BKMPM615| TSERH100RMPM615 M6x115mm
TSERH10BKMPM620 | M6x120mm
TSERH10BKMPM625 163 | 1917 | 42 | M6x125mm
TSERH10BKMPM630 41 mm |30 mm |10 mm|  pvex130mm
TSERH10BKMSM615 M6x115mm
TSERH10BKMSM620 M6x120mm
TSERH10BKMSM625 | M6x125mm
TSERH10BKMSM630| TSERH100RMSM630 M6x130mm
TSERH20BKMPM815 M8x1.2515mm
TSERH20BKMPM820| TSERH200RMPM820 M8x1.2520mm
TSERH20BKMPM830| TSERH200RMPM83d [0 M8x1.2530mm
TSERH20BKMPM840 | TSERH200RMPM840 M8x1.2540mm
TSERH20BKMPM850 216" | 139" | 53 |M8x1.2515mm
TSERH20BKMSM815 | TSERH200RMSM815 54 mm | 35 mm | 13 MM | pmgx1.2550mm
TSERH20BKMSM820 M8x1.2520mm
TSERH20BKMSM830 | TSERH200RMSM830 0 M8x1.2530mm
TSERH20BKMSM840 M8x1.2540mm
TSERH20BKMSM850 M8x1.2550mm

45



Black Male

Orange Male

Metric Metric Zinc| sS A B C Thread
TSERH30BKMPM1020 M10x1.520mm
TSERH30BKMPM1030 M10x1.530mm
TSERH30BKMPM1040 M10x1.540mm
TSERH30BKMPM1050 M10x1.550mm
TSERH30BKMPM1220 a M12x1.7520mm
TSERH30BKMPM1230 M12x1.7530mm
TSERH30BKMPM1240 M12x1.7540mm
TSERH30BKMPM1250 3.13"1 1.827| .72” | M12x1.7550mm

79 46 18
TSERH30BKMPM1260 mm | mm | mm | M12x1.7560mm
TSERH30BKMSM1020 M10x1.520mm
TSERH30BKMSM1030[ TSERH300RMSM1030 M10x1.530mm
TSERH30BKMSM1040 M10x1.540mm
TSERH300RMSM1050 a M10x1.550mm
TSERH30BKMSM1230 M12x1.7530mm
TSERH30BKMSM1240 M12x1.7540mm
TSERH30BKMSM1250[ TSERH300RMSM1250 M12x1.7550mm

46



Made with 304 stainless steel on brackets

SERIES A
Part No. Stainless | Thickness
TSE205A18S 1/8”
TSE205A316S 0 3/16”
TSE205A14S 1/4”
SERIES B
Part No. Stainless | Thickness
TSE205B18S 1/8”
TSE205B316S 0 3/16”
TSE205B14S 1/4”
SERIES C
Part No. Stainless | Thickness
TSE205C18S 1/8”
TSE205C316S 0 3/16”
TSE205C14S 1/4”
SERIES D
Part No. Stainless | Thickness
TSE205D18S 1/8”
TSE205D316S a 3/16”
TSE205D14S 1/4”

0.70in

METAL “L” BRACKETS

063in
(16.0mm)

(1346 mm)

1.75in

530in

-

-

(445mm ) = ~ <A
e () r—

o 050in

(12.7 mm )

i
!

(38.1mm)

(381 mm)

(38.1mm)

5 E
E E|E
=sNS . i
i c|E 8 ¢
w|E -
8le 5 2
y: 'y Z "
1
i
040in
(102mm)
o B26WT
(826mm>) | 050in
2.00in | 2l (127 mm )
(508 mm) i
' {
-~ = i K m—
c|E e E D R — !
I3 sl E e
SN g F w
= =i == 2 -
i = 2
5
=
=
1 A\l
)
(102 mm)
500in 4
075in [ Y 5k P Y
(191 mm) 125 | 7 el o (64 mm)
(31.8mm) i
o ‘é & é‘ === |l =] !
B~8w 1
e i i
g £ 2
<5 £ =
' ' v ,')% -
- '
$ L 040in
(10.2mm )
s|E
gl& 5.30in
°lo
413in
11049mrv\)'
IF <(E i
=l =| E
8.\800 Y
(=] SEN?‘ i i

)
@
&
[

=
=2
=

=

47



Supplied with basic hardware kits in stainless steel.

See dimensions on page 47.

AT

Part No. '

o

TSE205AB18S

Part No.

TSE205AB316S

TSE205AC18S

TSE205AB14S

TSE205AC316S

TSE205AC14S

Part No.

TSE205CC18S

Part No.

DOUBLE RAIL CLAMP

:

Part No.

©

TSE205BB18S

Par't No.

TSE205BB316S

TSE205BC18S

TSE205BB14S

TSE205BC316S

TSE205CC316S

TSE205DB18S

TSE205CC14S

TSE205DB316S

TSE205DC18S

TSE205DB14S

TSE205DC316S

TSE205DC14S

TSE205BC14S

Part No.

[TSERH30BKFS3816

TSERH30BKFP3816

48



DOUBLE RAIL CLAMP

Material: 304 stainless steel
Choice of rail center dimensions

| A
Y* H f‘/“/EE
A5 | B gg
a|E c
I's 0.10in il .
(72.57mm )
|
Y K= =
054 in ‘ 150in
-~ -
(13.7 mm) A (38.0mm)
Part No. Rail Hole Fastener Width
Centers (C) Shape
TSEDRCO025 2.5” O 3/8 or M10 1.50”
TSEDRC025W 2.5” O 3/8 or M10 3.00”
TSEDRC025WSH 2.5 | 3/8 or M10 3.00”
TSEDRCO0325 3.25” O 3/8 or M10 3.25”
TSEDRCO0375 3.75” @) 3/8 or M10 1.50”
0.791in
% ( 20.1 mm )
(/\
1 0.32in
Ko ||y 82mm)| I
| |
it ML) e n
o L
|
E IS
=He 1.50in




DOUBLE RAIL CLAMP
SINGLE RAIL CLAMP

Usage: Used to hold guide rail for a wear bed grid.
Material: 304 stainless steel

0.75in @0.32in
T (19.1mm) - (@82mm)
M FoC ~
g s
\Jt _: _;; A 2 E O
B ~NIR:15=
L vy <8
| 7 ~—
| = \
| | —
gl o E 1501in
=
Part No. Fastener 2 = (380 mm)
TSESRCO015 5/16 or M8 ol
: 0.75in s 0.32in
_:VL (19.1 mm ) | (82mm)
WiECE T [ A
AF —l [ —
55 WL ] O T I E 0
Sl | | = =
= B | =
L vy <S8
| Y, N
== o] S
W | 150in
Part No. Fastener :'\: - (38.0mm)
TSESRCO015SH | 5/16 or M8 o=




SENSOR MOUNT

Material: 304 stainless steel

072 @7
a1 T
I'\_+_/' , l"\ S/
350
+ 0 5.00
. ___/{i sg U8
R.50 —’\L/ Vi M
Part No. Length Sensor Hole
TSE6123512 12 mm
31/2”
TSE6123518 18 mm
TSE6125018 5” 18 mm

RAIL SPLICE

Material: 304 stainless steel

0.06 in
S (1.5mm)
Jd L ‘ /é\
S| E
<| Rl
=4
11 Part No. Length Material
i ] 045in TSE01301 2’
Length (11.5mm) |TSE01303 3
Stainless
TSE01304 4
TSE01306 6”




SELF-ADJUSTING CLAMP

Material:

304 stainless steel

SENSOR MOUNT

Bolt Length
Part Number | Thread [—
in mm
TSESACO01 .625] 15.88
TSESACO02 75 1 19.1
5/16
TSESACO03 10| 254
- TSESAC04 1.25] 318
elE 0.86 in 1.00in
§ I 218 mm ) (254 mm) TSESAC1401 .60 | 15.24
= 1/4
A TSESAC1402 .80 | 20.32
v TSESACO02M .787 20
Y i M8
! TSESAC04M 1.18 30
@
|3 ‘
Thread
- -
Usage: Splices two sections of guide rail or chain guides
Material: 304 stainless steel
Length
Part Number |—
in mm Length
TSEVSCO1 3 | 762 - 7 IS i
§ iﬁ - 0.86in ke 200in
Sle ymm) (508 mm )
! |
vy N§g—= =B [5° % e T o o

»J Thread
i fgg——"



Made with 304 stainless steel
Rod sold separately

b—1.53 —

5.00in

STAINLESS STEEL BRACKET

b—1.25 — Slot for 3/8”
bolts on 3” to

L~ 4" centers

|

,.
Q

Gl

Slot for 3/8 in
_— bolts on
-~ 3to 4 in centers

A

(€ e £
X
'
~ @040in thru
(210.2mm)

Part No. Rod
TSE253BS12 1/2”
TSE253BS58 5/8”

Part No. Rod
TSE253KS12 1/2”
TSE253KS58 5/8”

53



Made with 304 stainless steel

Rod sold separately

Part No. Rod
TSE253NS12| 1/2”
TSE253N858| 5/8”

STAINLESS STEEL BRACKET

GUIDE RAIL BRACKET

Made with 304 stainless steel

Part Number

TSE201S115

—125— Slot for 3/8”
b—153— bolts on 3”
] L~ to 4” centers
14
<o
40
50 /@ 3.0
o4
fﬁ thru —
4
! 22
ok
e x‘
0.50in | 225in
= R
(12.7 mm) (57.2mm)
150 in | sl b e 1.00 in
(38.1mm) (254 mm) Elg
1.75in _ 1.50 in S ™
- - | I~
(44.5mm) ; (38.1mm) fagd
Y , T [ ] Ve TS gy T e = ) A
EL i (R | i S Fo< Y
) = 5i = 0.56 in
2B el Bl 115in >15‘E =
ol E ~|E (292.1 mm) 3| (142 mm)
0| © ~| = O | o ;
Sl— «~ | ™ | — 0.12in
‘ o~ =T N S
o9 i (3.0mm)

54



GUIDE RAIL BRACKET

Made with 304 stainless steel

—1.50— - +.188
— —
- |
41
413 u
8.00
- | Part Number
87 TSE204DS115
2.00
50 + I
f “R.25 i -
042 1In :
g
(10.7 mm) [D
A 6y
i 7\
T
-
(@))
Y > > Part Number T
-

’E‘ TSE204F75316
=4I = X TSE204F45316
o | © v

3

s 1.00in

(254 mm)




GUIDE RAIL BRACKET

Made with 304 stainless steel

Part No. Part No. Rod
TSE641T12 1/2” TSE641K12 1/2”
TSE641T58 5/8” TSE641K58 5/8”

&le g|g
c |E = =
oRd =2 _BRd 3|2
- = b l e
& 2 f &J = 1
,/ ) 4
= P s S 2 -
2 E: ((’/.@‘(@ -";,'-‘:‘ > ! %

Part No. Rod Part No. Rod
TSE641TN12 1/2” TSE641N12 1/2”
TSE641TN58 5/8” TSE641N58 5/8”

AR (S lc': ORI S

|5 S /‘

- ‘——"

' @

O
Part No. Rod Part No. Rod

TSE641TK12 1/2” TSE641TR12 1/2”
TSE641TK58 5/8” TSE641TR58 5/8”




J— 2.583 —|

-
T o |37
3.29 —

l— 2.53 —|

)

|- .37
3.29

41

l—1.9!

3/8

SWIVEL BRACKET

Part No.

TSESS503BSC12

TSESS503BSC58

Part No.

TSESS503BHSC12

ISESSE03RHSCHS

57



knob; rotate cam to your specific adjustment
Material: Reinforced nylon with acetal cam and stainless steel tubes

Patented

Part No.
TSEQC221

Usage: Simplifies adjustment of rod, clamp, and guide rail into one quick-change push of the
knob; rotate cam to your specific adjustment
Material: Stainless steel with acetal cam and stainless steel tubes

Patented

Part No.

TSEQCSS221




QUICK-CHANGE™ BRACKET
APPLICATION SHEET

e
PACKAGE
CLEARANCE
WIDTH
—
I =
i
PACKAGE
CLEARANCE
= WIDTH
E
4
8
C 1k
— = A | == ¢
CONVEYING L) ‘ )
CENTER TO % -
MOUNT HEIGHT _— SN
f 5
€
s
r———TABLE TOP
CHAIN WIDTH
g
CONVEYOR
WIDTH
Check | A= ___
One: Bl=
Customer: _—
,_)_ B2=
Contact: Phone:| Oneside | B3=
= B4=
ax:
B5=
,_). —_—
Two sides | B6=

59



Supplied with swivel cap, stainless steel eyebolt, knob, 3/8-16 bolt, nut and washers.

Part No.

TSE503BSC12
TSES503BSC58

BRACKET BODY

Usage: Used with threaded adjusting rod (TSE524 or TSE532); rod not included

Supplied with stainless steel washer.

Part No.
TSE503B

208in
(528mm)r
1.75in
(445mm) @ Rod
p— \Y)
el E E h=4 E
~| E £l £ E|E
® | © o] | ©
N E el el Sle
ot © | 0 &
i = o
g =| E o
=| E o B
ol E 2l< =|E
py = SIF 3= ‘
3‘1 — o g |
| R . |
1 = v
0.37in 0.41in \\mm
(9.4mm) (104 mm) B
1.95in 3/8
(49.5mm)
1.77 in
" [(45.0mm) Rod Support Washer
X
EEE i
- c E
| E I= ~| o
2l E|E 6| 2
OlE & —
NN
Yy —
\

3.29in

-
— -

(83.6mm)

3/8

60



SMALL GUIDE RAIL BRACKET

Supplied with stainless steel eyebolt, knob, 3/8-16 bolt, nut and washers.

Usage:
0 Supports guide rails where horizontal adjustments are needed.

0 Can be mounted on side of frame for quick release or adjustment.

2 4
»1 1.97 T« 1.18—= [
1.89
2.52
A2—==— 7 | 1
6 1
2.80
—JL——i Part Number
el 1,57 b 2] TSE51012
3,35 TSE51058

LARGE GUIDE RAIL BRACKET

Supplied with stainless steel eyebolt, knob, 3/8-16 bolt, nut and washers.

Usage:
0 Supports guide rails where horizontal adjustments are needed.

0 Can be mounted on side of frame for quick release or adjustment.

4.00in

10.25in
(260.4 mm)

| Nt
= E
= |3 |
| = :
A TN, v
" 041in N (o
(104 mm) 3 @m Part Number
1.701in 3/8 TSE22112
e i ———— ey
(42 mit) TSE22158

61



SWIVEL CAP

Supplied with glass-reinforced knob, stainless steel cap, 3/8-16 bolt, and washer.

2 He
B
1 D
———-—— C [——
Part No. A B C D Shaft Diameter
TSE503SC12 1/2”
1.63” .90” 1.34” 3/8-16
TSE503SC58 5/8”
SWIVEL CAP ASSEMBLY
Supplied with glass-reinforced knob, stainless steel cap, 3/8-16 bolt, and washer.
r-2.08
L 0 (e 1D W
e AL 3.28
L g bt
i — N
@ ROD | 89 [ l |
* !
0" B
T 1 ~—23/8-16
- 31.19 =

Part No. Shaft Diameter
TSESS503SC12 1/2”
TSESS503SC58 5/8”

62



SWIVEL CAP ASSEMBLY

Supplied with glass-reinforced knob, stainless steel cap, 3/8-16 bolt, and washer.

2.08

(I OO
-

!1&! ‘i _i‘::'r'_r }‘4.19
Pt o T 2s2
@ ROD — 1.81 *
B %
M ~—3/8-16
— 119 f—=—
Part No. Shaft Diameter
TSESS503HSC12 1/2”
TSESS503HSC58 5/8”

e
ooz IR ] E‘_E‘_‘
groD 7 " [
H |; | ~—3/8-16
— 3119 =

Part No. Shaft Diameter | A B

TSESS503HTS12 1/2” 5.70]5.12

TSESS503HTSS8 5/8” 5.70]5.12




SPACER

Usage: Use TSE504S with TSE503B bracket; use TSE511S with TSE510 bracket; use TSE221S
with TSE22112 bracket.
Allows efficient mounting of several spacers together to obtain wider bracket or guide rail distance.

N B . 4 C r
7 b
o
Part No. A mm B mm C mm
TSE504S 3.75" | 95.25 1.90” 48.26 0.75” 19.05
TSE511S 2.95" | 74.93 1.97” 50.03
0.59” 14.98
TSE221S 439" | 11150 2.05" 52.07
I @119 |
Part No. YT 1
&0
TSEVSR L : |
! G117 |
. #4140

SWIVEL CAP KNOB—MALE

Can be used independently or as a replacement part for the hand knobs in the TSE line of
brackets.

i
E
W A =

Part No. Thread Knob Color
TSE28038M 3/8-16 Black




ADJUSTING ROD PROTECTIVE CAP

May be used with TSE524 or TSE532 series adjusting rods.

Part No. Diameter | Color

0.84 in A
(21.3mm) TSE2004R 1/2” Red
c\; TSE2004Y 1/2” Yellow
= TSE2005R 5/8” Red
77777777777 = TSE2005Y 5/8" | Yellow
SAFETY CAP

May be used with TSE524 or TSE532 series adjusting rods.

_,;,rR b Part No. Diameter Color
1 (38.9mm)
| TSE20022512B 1/2”
Black
TSE20022558B 5/8”
:Rod Diameter e
£|E
D | D
@084in o[
el (@21.3mm) =

65



ADJUSTING

Usage:

ROD

Compatible with Solus®, Artek®, Spiratex® or Pobco®rails.

Injection molding through the stainless steel tube. A strong and crush-resistant rod.

s

e

Part No. Shaft Diameter
TSES5255TZ
TSES257TZ 1/2”
TSES52511TZ

6.14in

(156.0mm)

\
\
\
k i

ROUND ADJUSTING ROD

Usage:

Used to hold 1/2” stainless steel rod.

0.97in _ 100in | E
1246mm) (25.4mm) 8."'5?
g=====—=\ A 2ot otg

T & Tl ’
( | =|& |
=3 ¢ y = X
€ r
Sle \ 2029in
= 5_: /_ (@7.4mm) f;,,
[+F)
—
-4 N/ 2
o
—— 0 gosn A r
' (@12.7mm)

Injection molding through the stainless steel tube. A strong and crush-resistant rod.

t 7““‘\\

Part No. Shaft Diameter
TSE5255R

TSE5257R 1/2”
TSE52511R

6.14in

| 097in | 1.00in
- - -
| (246 mm )| [(254mm) |
777777 L s
= E
= s = E
[} @ =~
.‘ — | 8
Y X | i
g =S \ e—
E \
=
S_ S\E 7670‘:14,"‘,
s o2 (©86mm)
Y4 N/
/] N
! | @050in
‘ " (@127 mm)

66



LASER-NUMBERED ADJUSTING ROD

Usage: Compatible with Solus®, Artek®, Spiratex® or Pobco® rails.
Injection molding through the stainless steel tube. A strong and crush-resistant rod.

Laser numbering available in imperial or metric measurements.

li 097in | L
(24.6 mm) (

oF /) S
-‘? =k |
: Sle :
= ‘ Part No. Shaft Diameter

Al
\ T A
| LNTSE5255TZ
\ ©029in
(074mm) LNTSE5257TZ 12
LNTSE52511TZ

A 2 S
N/

-

6.14in
(156.0 mm )
061in
(15.5mm)
|
|

Rod Length

@0.50in
(@127 mm)

LASER-NUMBERED ROUND ADJUSTING ROD

Usage: Used to hold 1/2” stainless steel rod.
Injection molding through the stainless steel tube. A strong and crush-resistant rod.

Laser numbering available in imperial or metric measurements.

L 097in P L 100in _ A
| (24.6mm)| (264mm) |_—o
i ===y — oy
s E Hi s E
T8 | =l 8~
) ~|8 - &
= i R
c|E [E
=la =|& 20.34in
S ,
© 8 o ‘E / (@86 mm) A Part No. Shaft Diameter
LT v LNTSE5255R
LNTSE5257R 1/2”
' /| 2050in Y LNTSE52511R
(9127 mm)

67



LASER-NUMBERED ADJUSTING ROD

1/2” ADJUSTING ROD

Material: 1/2” diameter stainless steel rod

I ——
i ] o.D.
THREADED f
Part No. Shaft Length 0.D. Threaded

TSE5243516 3’ 5/16"

TSE524338 76.2mm 3/8”
TSE5244516 2 5/16"

r TSE524438 101.6 mm 3/8”
! TSE5245516 5 5/16”
TSE524538 127 mm 3/8”
TSE5246516 5/16"

6” ”

TSE524638 152 4 mm 3/8

L TSE524614 1/4”
TSE5247516 5/16"

7” ”

TSE524738 1778 mm 318

TSE524714 1/4”
1/2” ”

TSE5248516 g’ 127 mm 5/16

TSE524838 203.2mm 3/8”
Use with these TSE52410516 5/16”
10” ;

TSE5241038 254 mm 318

TSE5241014 1/4”
b TSE52412516 19” 5/16"

|y TSE5241238 304.8mm 3/8”
TSESACO A ;
1 (page N TSE52415516 157 5/16
52) TSE5241538 381 mm 3/8”
TSE52418516 18" 5/16"

TSEDRCO02 TSE5241838 457.2mm 3/8”
2(page 9 [roEs2424516 oq” 5/16”
TSE5242438 609.6 mm 3/8”

68



LASER-NUMBERED 1/2” ADJUSTING ROD

Material: 1/2” diameter stainless steel rod

i - o

THREADEDT

Part No. Shaft Length O.D. Threaded
LNTSE5243516 3 5/16"
LNTSE524338 76.2mm 3/8”
LNTSE5244516 4 5/16"
LNTSE524438 101.6 mm 3/8”
LNTSE5245516 5 5/16"
LNTSE524538 127 mm 3/8”
LNTSE5246516 5/16"
LNTSE524638 1523" o 3/8”
LNTSE524614 1/4”
LNTSE5247516 5/16"
LNTSE524738 177z’mm 3/8”
LNTSE524714 1/4”
LNTSE5248516 g’ 12_17/2r;m 5/16"
LNTSE524838 203.2mm 3/8”
LNTSE52410516 5/16" Use with these
LNTSE5241038 2510r;m 3/8" components:
LNTSE5241014 1/4”
LNTSE52412516 197 5/16"
LNTSE5241238 304.8 mm 3/8” ’ =
LNTSE52415516 15 5/16” "l age |y
LNTSE5241538 381 mm 3/8” 52) -
LNTSE52418516 18" 5/16"
LNTSE5241838 457.2 mm 3/8” TSEDRCO02
LNTSE52424516 o4 516" > (page 49)
LNTSE5242438 609.6 mm 3/8”

69



LASER-NUMBERED 1/2” ADJUSTING ROD

ADJUSTING ROD—020 STYLE

Material:
Usage:

Stainless steel
Attaches to TSE01901 and TSE02001 rod ends

Diameter
@044in |
(@112mm) ———  054in
Y (137 mm)
Part No. Length Diameter A
TSE020R3 3" =l e
76.2 mm o =
™
TSE020R5 5" a3t =
127 mm Oln 8)
TSEOQ20R7 7 3
177.8 mm 1/2
TSE020R9 9’ 12.7 mm
228.6 mm V
TSE020R11 11”
279.4 mm
TSE020R15 15 Use with these
3.81 mm components:
TSE020R4 4 *
101.6 mm
TSE020R6 6" w
152.4 mm TSE
TSEO20RS 8’ 5/8” 019017 .
203.2mm | 15.875 mm (page 74)
TSE020R10 10”
TSE
254 mm 02001
TSEO20R12 12” (page 74)
304.8 mm

70



LASER-NUMBERED ADJUSTING ROD

Material: Stainless steel

Usage:

Attaches to TSE01901 and TSE02001 rod ends
Laser numbering available in imperial or metric measurements.

Diameter
@044in |
(@11.2mm) ‘ﬂ i 054 in
Y Y (137 mm)
A
c| E
PR =
] R =
Ol &)
= g
Y

components:

v

TSE
01901
(page 74)

Use with these

TSE
02001
(page 74)

Part No. Length Diameter

LNTSEO20R3 37

76.2 mm
LNTSEO20R5 5”

127 mm
LNTSEO20R7 7’

177.8 mm 1/2”
LNTSEO020R9 9’ 12.7:mm

228.6 mm
LNTSEO20R11 11”

279.4 mm
LNTSEO20R15 15”

3.81 mm
LNTSEO20R4 4’

101.6 mm
LNTSEO20R6 6’

152.4 mm
LNTSEO20RS8 8” 5/8”

203.2 mm 15.875 mm
LNTSEO20R10 10”

254 mm
LNTSEO20R12 127

304.8 mm

71



LASER-NUMBERED ADJUSTING ROD

5/8” ADJUSTING ROD

Material:
Usage:

5/8” diameter stainless steel rod
May be used in conjunction with TSEDRC025 or TSESACO1.

Use with these
components:

L3
-~
e
TSE -
SACO01
(page 52)
TSE
DRCO025
(page 49)

[ ¢
P - Job
THREADED }
Part No. Shaft Length O.D. Threaded

TSE5326516 . 5/16”
TSE532638 152.4 mm -
TSE5328516 5/16”

8”
TSE532838 203.2mm 3/8”
TSE53210516 5/16”

10!1
TSE5321038 254 mm 3/8”
TSE53212516 5/16”

127 5/8”
TSE5321238 304.8mm | 15.875 mm 3/8”
TSE53215516 5/16”

15!1
TSE5321538 381 mm 3/8”
TSE53218516 5/16”

18!’
TSE5321838 457.2mm 3/8”
TSE53224516 5/16”

24
TSE5322438 609.6 mm 3/8”

72



LASER-NUMBERED 5/8” ADJUSTING ROD

Material: 5/8” diameter stainless steel rod
Usage: May be used in conjunction with TSEDRC025 or

TSESACO1.

Laser numbering available in imperial or metric measurements.

I
P — Job.
THREADED }
Part No. Shaft Length O.D. Threaded
LNTSE5326516 . 5/16”
LNTSE532638 152.4 mm 3/8”
LNTSE5328516 5/16”
8”
LNTSE532838 203.2mm 3/8”
LNTSE53210516 5/16”
10”
LNTSE5321038 254 mm 3/8”
LNTSE53212516 5/16”
127 5/8"
LNTSE5321238 | 304-8mm | 15875 mm 3/8"
LNTSE53215516 5/16”
15’!
LNTSE5321538 381 mm 3/8”
LNTSE53218516 5/16”
18’!
LNTSE5321838 457.2mm 3/8”
LNTSE53224516 5/16”
24
LNTSE5322438 | 609.6mm 3/8"

Use with these
companion components:

TSE
DRC025
(page 49)

73



LASER-NUMBERED 5/8” ADJUSTING ROD
ROD ENDS

Material: Clamp in acetal, bolt in stainless steel and nickel-plated brass

1.06 in

r'( 26.9 mm )HI
T =
c|E g2
2|= =3
Y
Part No. 106in |
TSE01901 (269mm) |
o 100 < 106in
i (254mm) | (27.0mm)
A
:’E\ R i
5|E -
=3 i N S|E
= \ NS
Y ‘ ‘ Y oy
20.75in =|E
Part No. "o 190mm) Blo
S =
TSE02001 —
May be used with TSE524 or TSE532 series adjusting rods.
0.84 in
(21.3mm)
Part No. | Diameter | Color : :
TSE2004R 1/2” Red ‘
[e )]
TSE2004Y 1/2 Yellow g‘
|
TSE2005R 5/8” Red ;
,,,,,,,,,,, Y
TSE2005Y 5/8” Yellow




ALUMINUM COMPRESSION CLIP

Material:  Aluminum for heavy duty applications
NOTE: Use of TSE017 Backing Plate is required when clip is attached to adjusting rod.

0.28in

073in
BBR e
(185mm) ,k_L(_]O mmJ

1.12in I.Qgsi"
(285mm) ' (B0 mm) Part No. Fastener

TSE01601 5/16

0.55in
(14.0 mm)

PLASTIC COMPRESSION CLIP

Material: Acetal for light-duty applications
Use of TSE017 Backing Plate is required when clip is attached to adjusting rod.

NOTE:
1.08in
i (27.4 mm)
32‘18 = 078in | | B
- -
b (198 mm) B
= .
— [ o= = -
— E 4.4' 1 \~P
Tlicw g
) s ) |
031 in (7.9 mm) _067in | b Part No. Fastener
8 In .~ mm to
(17.0mm) B
thru (for 5/16 hex e bt uprig?#t L TSE01602 5/16
head bl 5/16 hex head bolt

BACKING PLATE

Material: Stainless steel
Use with TSE016 series compression clip

5 0.88in = _,;..,4012 in
(224 mm) | (3.0mm)
R — ‘ 7‘
/
E
=l £
~ g -
Part No.
‘ ]
0.34 in ( 8.6 mm) thru (for 5/16 bolt) TSEO17




ALUMINUM COMPRESSION CLIP

8
SHAFTOIA. DIMENSIONS (i
BEARING (d) SIONS (in) or (mm) BOLTUSED
UNIT M mm A E G L S B Z Bi N M (n)  (mm)

sUCTFL 204-12 BRI 44488 3.5433 05906 0.5276 10433 0.4331 2.5591 13110 1.2205 0.5000 0.7205 3/S
SUCTFL 204 20 113 90 15 134 265 11 65 333 31 127 183 M10
QUATFI 20R.A4 8 51575 3.8976 06496 0.5630 11024 0.4331 2.7559 1.4252 13386 0.5630 0.N56 3/S
SUL ITL ZUD-10 131 99 165 14.3 28 11 70 362 34 143 197
SUCTFL 205 25 M10
SUCTFL 206-19 [EEECHNE] 5.8268 46063 07087 05630 12008 04331 31496 1.5827
pideegid 1.5000 06260 08740  3/S
SUCTFL 206 30 148 117 18 143 305 11 80 40.2 381 159 222 M10
SUCTFL 207-20 [ENEVES
T 6.4567 51181 0.7480 0.6102 12598 05118 35433 1.7480 1.6890 0.6890 10000 1/2
SUCTFL 207-23 [EELS
SUCTFL 207 35 164 130 19 155 32 13 90 444 429 175 254 M12
SUCTFL 208-24 [NV, 6.9201 56693 0.8465 0.6693 1.3780 0.5512 3.9370 2.0354 1.9370 0.7480 1.1890 1/2
SUCTFL 208 40 176 144 215 17 35 14 100 517 492 19 30.2 M12
SUCTFL 209-27 EBIAG 74409 58661 09449 08268  1.6142 0.6693 42520 2.1339 1.9370 07480 1.1890 SIS
SUCTFL 20928 [ 189 149 24 21 41 17 108 54.2 492 19 302
SUCTFL 209 45 M16
gb’ggt g}gg; ”gﬂﬁ 77559 61811 0.9843 0.8268 16929 0.6693 4.5276 226n 20315 07480 1.2835 SIS
SUCTFL 210 50 197 157 25 21 43 17 115 576 516 19 326 M16




3-BOLT FLANGE BEARING

Material: Thermoplastic

. LR
\3 =3
. £
SHAFT DIJ.(d) DIMENSI ONS (mm)
BEARING UNIT
(in) (mm) a b c D e g h k n [ |
SUCTFB 201-8 1
SUCTFB 202-10 YA 246 257 150 168 104 0875 055 425 0437 050 059
SUCTFB 204-12 [ 625 625 381 429 265 22 14 108 11 12.7 15
SUCTFB 204
SUCTFB 205-14
swersnets I L R I I ST T Y
SUCTFB 205 :
Rl 1316 o 379 326 181 206 125 125 051 545 0437 062 070
iy 114 965 83 461 524 32 3ls 13 1385 1 15.9 18
sucTFB207-20 (SO
SUCTFB 20722 [EEEy SR G} 3.70 2 237 125 125 059 614 051 068 074
SUCTFB 20723 [Ere 109.5 o1 508 603 32 a8 15 156 13 175 19

SUCTFB 207




3-BOLT FLANGE BEARING

Material: Thermoplastic

SHAFTDIA.(d DIMENSIONS (in) or (mm BOLTLISED
BEARING ) (in)or (mm)

UNIT ny (mm) A E G L S V4 Bi N M (in)  (mm)
sucTF 204-12 B 3.3858 2.5000 0.6417 05276 1.0M5 0.433L 1.3622 12205 05000 07205 3/8
SUCTF 204 20 86 635  16.3 134 278 11 34.6 31 127 183 M10
SUCTF 205-14 [RREC) 3.7402 27559 0.6693 05630 1.1220 0.433L 1.4449 13386 05630 0.7756  3/8
SUCTF 20516 1 95 70 17 143 285 1 36.7 34 14.3  19.7
SUCTF 205 25 M10
gggg 206-;3 11*_31% 42126 32677 07480 0.5630 12402 0.433L 16220 15000 0.6260 0.8740 3/8
SUCTF %82‘ 30 107 83 19 14.3 315 11 412 381 159 222 M10
SUCTF 207-20 S 46457 3.6220 0.8465 0.6102 13583 05118 18465 1.6890 0.6890 1.0000 112
SUCTF 207-22 11-'/31{%
238# 53;'23 35 18 92 215 155 345 13 469 429 175 254 M12
SUCTF 208-24 IR 51181 4.0157 09055 0.6693 1.4370 05512 2.0945 19370 0.7480 U890  1/2
SUCTF 208 40 130 102 23 17 36.5 14 53.2 492 19 30.2 M12
SUCTF 209-27 [EEINNANS 53937 41339 09449 07480 16142 06693 2.1339 19370 0.7480 1.1890 5/8
SUCTF 209-28 IRESIZ 137 105 24 19 41 17 542 492 19 30.2
SUCTF 208 45 M16
SUCTF 210-31 1'13/16 5.6299 4.3701 09843 0.8268 1.6929 0.6693 22677 20315 0.7480 1.2835 5/8

SUCTF 210-32
SUCTE 215 50 143 111 25 21 43 17 57.6 516 19 32.6 M16




PILLOW BLOCK

Material: Thermoplastic

O e

~ o~

e o

—————eee e ———— -

BEARING
UNIT SHAFTOIA.(d) DIMENSONS (in) or (mm) BOLTUSED
T o s VEIGHT
S ()  (m)  H A E B 52 51 G w Bi N M @ (mm) —— (bs)
SUCTP 204 SUC 204
314 13110 50000 37402 14961 05512 04331 05591 25787 12205 Q5000 07205 318 — 066
SUCTP 20514 o @3 127 95 38 11 142 65 3 183 EON < 205.14
SUCTP 205-16 SUC 205-16
SUCTP 205 SUC 205
718 14370 55315 41339 14961 05512 04331 05709 27953 13386 05630 07756 3/8
SUCTP 206-13 SUC 206-18
ScTp S0 og R s 365 1405 105 38 14 i 145 71 34 3 197 R <. 206 20 TP205 0.76
SUCTP 206 SUC 206
sucte 20720 IERS 16890 64173 4.6850 18110 07087 05512 07008 33071 15000 06260 Q8740 1/2 suc 20720 P20 1o
Apslizlen 0 429 183 19 46 18 14 178 84 381 159 222 M12 s
SUCTP 207 SUC 207
i) 18740 66142 50000 1.8898 07087 05512 07087 37205 16890 Q6890 1.0000  1/2
SUCTP 208-24 7yl SUC 208-24 TP207 172
SUCTP 208 35 476 168 127 48 B 14 18 945 429 175 254 ViPQy Suc 208
SUCTP 209-27 SUC 209-27
19370 7,2441 53937 21260 07087 05512 07677 39764 19370 07480 11890 112
SUCTP 209-28 SUC 203-28 TP208 2.15
o 40 492 is4 137 54 18 14 IR5 ' 101 492 19 302 Vibl 20C 205
SUCTP 21031 SUC 21031
SHUCTE 21092 IR 2120 7551 57480 21260 07874 0.6693 0.9055 41732 19370 07480 11890 518 OB
1334 54 102 146 54 2.0 17 23 106~ 492 19 302 TP209 243
75 M16
115116
B 22520 81102 62598 2322 07874 0.6693 09055 448% 20315 07480 12835 5/8 TP210 568

50 572 206 159 60 20 17 23 114 5.6 19 32.6 MIG



PILLOW BLOCK

Material: Thermoplastic

Bl

h d-f -

SHAFTDIA. (d) OtMENSIONS (in) or (mm)

BEARING UNIT HOUSING ~ WEIGHT

(in) (mm) h b H m c g Bi (i1bs)
sberm 220 [T SUG 202-10
sUCTTE 20412 IR 1312 1.358 2,504 2 2.87 318 0,51 0.50 122 BT TIB204 066
sl D 333 345 66 508 72.8 13 12.7 e
SUCTTB 205-14 SUC 205-14
SUCTTB 205-16 718 SUC 205-16
SUCTTB 205 1 25 1437 155 2.89 2 3 318 051 0.56 (YR suC 205 TIB205 073

365 305 735 508 762 13 14.3 341

SUCTTB 206-19 SUC 206-19
Svermaoe . (R SUG 206 "

114 30 1687 165 330 2, 4 7116 062 0.62 150 TIB206 121
SCTIHAn 42.9 42 84 101 16 15.9 61 [
SUCTTB 207-22 SUC 207-22
sucre 20723 [ SUC 207-23
SUCTTB 207 : 1.875 185 3.75 3.25 435 0.72 0.68 (G SuC 207

Jae. % ure 47 95 82.6 1105 12 185 17.5 4.9 Tig207 169
SUCTTB 208-24 SUC 208-24
SUCTTB 208 SUC 208
19357 166Y 4 3.0U 4.9 U.76 U.79 1.3
112 40 493 48 1005 889 120 1 20 19 492 TiB208 210




Material:

BEARING
UNIT

SUCSFL 204-12
SUCSFL 204

SUCSFL 205-14
SUCSFL 205-16
SUCSFL 205

SUCSFL 206-19
SUCSFL 206-20
SUCSFL 206

SUCSFL 207-20
SUCSFL 207-22
SUCSFL 207-23
SUCSFL 207

SUCSFL 208-24
SUCSFL 208

SUCSFL 209-27
SUCSFL 209-28
SUCSFL 209

SUCSFL 210-31
SUCSFL 21032
SUCSFL 210

STAINLESS 2-BOLT FLANGE BEARING

Stainless steel

__________ A____________
4 \ '
/ 25
s / Drill
L_ /€ " n 8
\ 'y i ¥4
SHAFTDIA.(d) DIMENSIONS (i) or (mm) BOLTUSED
@in)  (mm) A E G L S B zZ Bi N M (in)  (mm)
3/4 44488 35433 05906 04331 10039 04724 23622 13110 1.2205 05000 05000 318
20 113 90 15 11 255 12 60 333 31 2.7 183 M10
718 51181 3.8976 0.6299 05118 10630 04921 2.6772 14094 13425 05630 05000 112
1 130 99 16 13 27 125 68 358 341 143 198
25 M14
11'_3111}16 58268 4.6063 07087 05118 1.2205 06299 3.1496 1.5627 15000 0.6260 0.5000 112
30 148 117 18 13 31 16 80 402 381 159 222 M14
iié}é‘ 63386 5.1181 07480 06299 1.3386 0.6299 3.5433 1.7480 16890 0.6890 0.5000 112
1-7/16
35 161 130 19 16 34 16 9 444 429 175 254 M14
1-112 66898 5.6693 0.8268 06299 14173 06299 3.9370 20157 19370 07480 0.5000 1/2
40 175 144 21 16 36 16 100 5U 492 19 30.2 M14
1-11116 74016 58268 08661 0.6299 1.4961 0.6299 4.2520 2.0551 19370 07480 05000 1/2
1-314 188 148 22 16 38 16 108 522 49.2 19 302
45 M14
1'15’116 77559 61811 0.8661 0.6299 1.5748 07480 4.5276 21496 20315 0.7480 05000 518
50 197 157 22 16 40 19 115 546 516 19 326 M16

81



STAINLESS 2-BOLT FLANGE BEARING

Material: Stainless steel

1
|
HAFTDIA. DIMENSIONS () or (mm) BOLTUSED
zeoenie I ) SIONS (i) or (mm) OLTUS
UNIT iy (mm) A E G L S z BI N M () (mm)
SUCSF 204~ 314 33858 25197 05906 04331 09843 0.4724 13110 12205 05000 07205 378
SUCSF 204 20 86 64 15 10 25 12 333 31 127 183 M10
SUCSF 205-14 [IE] 37402 2.7559 0.6299 05118 10630 0.4724 14094 13425 0.5630 0.7795 3/8
SUCSF 205-16 1 95 70 16 13 27 12 358 341 143 198
SUCSF 205 25 M10
SUCSF 206-19 EECEE 42520 32677 07087 05118  1.2205 0.4724 1.5827 1.5000 06260 08740 38
SUCSF 206-20 [EEIA : : : : : ' : : :
SUCSF 206 30 108 83 18 13 31 12 402 381 159 222 M10
SUCSF 207-20 (RS
bl 46063 36220 0.7480 05906 13386 0.5512 17480 16890 0.6890 1.0000  7/16
SUCSF 207-23 1-7/116
SUCSF 207 35 117 92 19 15 34 14 444 429 175 254 M12
SUCSF 208-24 TP 51181 40157 0.8268 0.5906 14173 0.6299 2.0157 1.9370 07480 1.1890  1/2
SUCSF 208 40 130 102 21 15 36 16 512 492 19 30.2 M14
SUCSF 209-27 [REEETATS 53937 41339 08661 06299 14961  0.6299 20551 19370 07480 11890  1/2
SUCSF 209-28 [EET! 137 105 22 16 38 16 522 492 19 30.2
SUCSF 209 45 M14
SUCSF 210-31 [EEEEAS
L H 56299 4.3701 0.8661 0.6299 15748 06299 21496  2.0315 07480 12835 1/2

SUCSF 210 50 143 m 22 16 40 16 54.6 51.6 19 32.6 M14




STAINLESS PILLOW BLOCK

Material: Stainless steel

w ' @
5y 1 1 )
[T ) i
f l -—-l
N p 3]
_________ e Al 3
s L
TR SHAFTDIA.(d) DIMENSIONS (In) or (mm) BOLT USED vouse WEIGHT
UNIT @ (m  H A R A T (R — Pbs)
FEESTEL
SUCSP 20412
SUCSP 204
busditocl 4 13110 50000 17402 14961 07480 05118 05118 25591 12205 05000 07205 I8 5904 1
e 0 83 11 % 38 19 13 13 6% 3L 127 183 MO g :
CSP 20514 S
SUCSP 20516 7
SUCSP 205 EBE 218?};
.
18 14370 55118 41339 14961 07480 05118 05906 27953 13425 05630 07795 1'8 SUC 205
ggg gg g% }g 1 %5 140 los 3B 19 13 IS Ul 143 198 SP205 187
SUCSP 206 % uio suc 20619
sucsp 2029 LES 16890 64961 47638 18398 07874 (06693 06693 3307L 15000 06260 08740 112 SUC 206 f— 284
AL 3 49 165 1 48N u o 8 381 159 222 RO s 20720
SuUCsp 207 SUC 207-22
144 18740 65748 50000 18898 07874 06693 07480 36614 16a90 0690 10000 112 B e
sucsp 208-24 IRIREEL = SP207 174
SUCSP 208 3% 416 %7 127 48 20 17 19 93 429 1715 254 M14
SUCSP 209.27 IETEY 19370 72441 53937 21260 07874 06693 07874 38583 19170 07480 L1890 112
SUCSP 20328 0 92 B4 13 s o 17 20 w8 492 19 302 M1 spoB 402
SUCSP 210-31 SUC 210-31
SUCSP 21032 INEWEG 21260 7.4803 57480 21260 07874 06693 07874 41732 19370 07480 11890 112 SUC 210-32 i
SUCsP 210 134 B 54 190 146 54 20 1/ 20 106 42 Y 302 W Suc 210 SP209 528
L1506 22520 81102 62598 2.3622 09843 07677 08661 44882 20315 07480 12835 511l

50 572 26 159 60 % 195 2 14 516 19 326 MI6 Sp210 6.38




STAINLESS PILLOW BLOCK

Material: Stainless steel

B/ 0.14] | 0.47
o
Part No. > <
FF100ALZ2L08 =
FF100ALZ2L10 3 ;
— =0
FF100ALZ2L12 S
N A 3
1.00 (.38
2-SIDED ALUMINUM TUBE PROFILE
Material: Aluminum 6063-T5
0.14 | 026 i 0.47
g ~y
Part No.
FF100ALZ208 g
FF100ALZ210 -
FF100ALZ212 | )
El{ 0.26 ‘ 0.468
°© U
1.00
3-SIDED ALUMINUM TUBE PROFILE
Material: Aluminum 6063-T5
g 0.260
o 0.47
Part No. (| ))
FF100ALZ308 g &
FF100ALZ310 - —
FF100ALZ312 L 9,
0.142 J H §
1.00

84



1” SQUARE TUBE PROFILE

Material: Aluminum 6105-T5

Part No.
3 FF100ALO8

FF100AL10
FF100AL12

1.00

CASING TUBE FOR 1/4” MATERIAL

Material: PVC

Part No.
GL25PVC

1-SIDED ALUMINUM TUBE PROFILE

Material: Aluminum 6063-T5

Part No.
FF100ALZ108

FF100ALZ110
FF100ALZ112

1.00

85



Material: Aluminum 6105-T5

3-WAY TEE JOINT

Material: Zytel® ST801 Super Tough

3-WAY CORNER JOINT

Material: Zytel® ST801 Super Tough

1” SQUARE TUBE PROFILE

Part No.

FFC2STBK

Part No.

FFT3STBK

Part No.

FFC3STBK

86



Material: Zytel® ST801 Super Tough

4-WAY CORNER JOINT

Part No.

FFC4STBK

4-WAY CROSS JOINT

Part No.

FFCRA4STBK

5-WAY CORNER JOINT

Part No.

FFC5STBK

87



4-WAY CORNER JOINT

Material: Zytel® ST801 Super Tough

A

Part No.
FFS2STBK

INTERNAL CONNECTOR

Material: Zytel® ST801 Super Tough

Part No.
FFICSTBK
BLOCK END
Material: Zytel® ST801 Super Tough
Part No.
FFBESTBK

88



3-WAY CONNECTOR WITH ADJ. ANGLES

Material: Zytel® ST801 Super Tough

Part No.
FF3CASTBK

ANGLED CONNECTOR 1

Part No.
FF1CASTBK

ANGLED CONNECTOR 2

Material: Zytel® ST801 Super Tough

) Part No.

FF2CASTBK

e I

89



3-WAY CONNECTOR WITH ADJ. ANGLES

Material: Zytel® ST801 Super Tough

Part No.
FF22STBKHR

2-WAY 22.5° LEFT CONNECTOR

Material: Zytel® ST801 Super Tough

Part No.
FF22STBKHL

3-WAY 45° CONNECTOR

Material: Zytel® ST801 Super Tough

Part No.
FF45STBK

90



2-WAY 30° RIGHT CONNECTOR

Material: Zytel® ST801 Super Tough

Part No.
FF30BKHR

2-WAY 30° LEFT CONNECTOR

Material: Zytel® ST801 Super Tough

Part No.
FF30STBKHL

3-WAY 30° CONNECTOR

Material: Zytel® ST801 Super Tough

Part No.
FF30STBK

91



2-WAY 30° RIGHT CONNECTOR

Material: Dghi® ST801 Super Tough
Usage: For 1”7 square aluminum tubing and for 1/4” polycarbonate panels inside;
fits Speed Frame™ tubing

¢

|-—for 1/4" Panel
.33 Panel i

o ~R0.46in
Clearance /

" o

1.34in

Part No.

TSEPC214

for 174" Panel
33 Panel -‘

Clearance

1.53in

Part No.

TSEPCH14

92



ALUMINUM SAFETY HANDLE

Material:  Aluminum with plastic end caps
Usage: For use with guarding systems on machines, automation systems with double-hinged

doors; adds additional safety element for operators’ knuckles

: L+7 Part No.
<11 l ] &= TSE630EL
— | F == 1/

L_h1_-%b3"— _>| —=iby=— =-hy
Plastic end caps ! i Screw hole for M6
I, b, b, bs h, h, I, l5 t
Inch 433 | 142 | 51 31 | 134 | 94 2.6 .87 47
mm 110 36 13 8 34 24 66 22 12

HEAVY DUTY ALUMINUM HANDLE

Material: Aluminum
Usage: Ideal for applications requiring a sturdy, rugged grip and a thumb rest on the front leg;
choice of two center hole mountings

—f by |~

i

i Part No. Color
U N TSEG631AEL Silver
TSE631ABK Black
I]_ a; do bl b2 h 1 h3

Inch 6.38 15 75 .98 1.10 | 2.17 | 142
mm 162 38 19 25 28 55 36

93



ALUMINUM SAFETY HANDLE

STANDARD DUTY HANDLE

Material: Glass-reinforced nylon with tapped inserts
Usage: Economical medium duty handle for use with cabinets, doors, and other applications

—

Part No. -
TSE631NBK516 % «i~)
b Il d hl h2 t |2
Inch 1.02 4.6 5/16-18 | 1.57 1.26 .35 5.24
mm 26 117 - 40 32 9 133

SAFETY HANDLE

Material: Plastic with plastic end caps

Usage: For use with guarding systems on machines, automation systems with double-hinged
doors; adds additional safety element for operators’ knuckles

.é\;
Covey
? e (rg‘rggvablej
r
L |
= 1
o B
|3 — b2
b
Part No.
TSE630NBK
Bore for
’ countersunk scraw
oocooo
‘{’ ) P

1 2 I3 b, b, d h; h, hs h, t




Inch

ALUMINUM SAFETY HANDLE

4.49
114

3.68
93.5

291
74

1.38
35

.75

19

.26
6.5

1.30
33

A3

11

95



DOOR HANDLE WITH LOCKING MECHANISM

Material: Zinc die-cast, powder coated
Usage: For use with applications that require a U-handle and locking mechanism

@) Bl g p
Part No.
7,_8"‘ e TSE632ZDBK
Afl...A9 46 —oni
| (28 =t Distance piece FQ
! i .. N
© \ -
- ‘{] M —
_—f \ K
Hexagon . —
bolt M6 b 1
max. _|Y_8
I | I
~ : ! N
T B
2 N
A 1
o L i * .-
A; A, Aj A, Asg Ag A, Ag Ag
Inch 35 40 45 50 55 60 65 70 75
mm 17-25 22-30 27-35 32-40 37-40 37-45 42-50 52-60 57-65

Clamping range A; to Ag (door + frame thickness)

95



DOOR HANDLE WITH LOCKING MECHANISM

BALL-SHAPED DOOR CATCH

Material: Catch body, acetal; ball, glass-reinforced nylon
Usage: Consists of a catch body to be fixed to a frame and a ball to be fixed to a door

Part No.
TSE633
b —= 11 =18 - —— A
O
Q XX X
15
i 5. I =

| —-v.vv.

.

<

N

| ot ?

o

e

&s! |
iy

2 extra
stop ridges
lﬁ—“ —e! 135 |=— Bores for
socket head cap screws
> : [ DIN 912 / DIN 7984~ M5
' 7 © v _ [ o Sheet metal screws
£ a 8 e ISO7049-ST48
© rf— 1
f 88| |
b d S1 Sz Holding force in N
Ball-@ min max min max
Inch 1.10 55 291 | 1.38 75 26
mm 28 14 17.8 19.3 7.9 9.9 6.741bf (30 N)




Material: Zinc die-cast

ZINC DIE-CAST HINGE

| I3 I3
@ T4
K L <5 T f
~l L r dj
Al
' Swiveling Range
I
' N e
T
s
ore for counter- “—t—-
Sunk ;ead scrtew 180°
d Part No.
2
. TSE634ZD
o N
&2/
I, 1, d,; d, ds h, h, hs h, I3
Inch [2.36]2.36 33| 31| .59 .31|.33| 67| .85
mm 60 60 8.3 8 15 8 85| 17 | 215
Material: Reinforced nylon
ds N S
" : | -
c\ ] [ \-‘E |
ds by ‘
= B =
i
oL &
| Part No.
— - —- - -— 4
i TSE635NBK
@ I @ |
I I, ds h, h, hs I3 A
Inch 189 | 189 | 20 | 81 | 49 | 57 59 | .67
mm 48 48 5 20.5 12.5 14.5 15 17

97



ZINC DIE-CAST HINGE
HEAVY DUTY PLASTIC HINGE

Material: Reinforced nylon

ds d j
L
‘ [ |
ds bi
' é} I
S l |
fi
B
Part No. Fastener L B f fq h
TSEG34NBKAAL4 1/4° Inch | 402 | 315 | 285 | 1.95 | .81
TSE634NBKCC51q 5/16” mm 102 80 725 49.5 20.5
Material: Reinforced nylon
Eccantric pin ™
Pin with Tal 1
i = ¢
of the eccentric pin m} =% 1
e [
el e 1/ i
M E
25N 7 I
—-dz.—-.—- ——] b rt—e
Part No.
TSEG634NBK
|1 |2 b dl dg |3 |4 m t

98



Inch

ZINC DIE-CAST HINGE

1.10
28

2.52
64

.57
14.5

M5

31
8

.24
6

A7
12

.75
19

.30
7.5

99



PVC ROLLER W/ SLEEVE BEARING

T OVERALL LENGTH—

[ '. SHAFT SIZE

Please use the formula below to specify your needs.

i Shaft Size
15 Roller D1|'a9rgeter Part No. Description Bearing Material Bore Distance
20 238 12 12" N Nylon Alloy B  Blind Between Frames
25 568 916 9/16” U UHMw T Thu |
58 5/8” (please specify)
k7] 3/4” l l j

Part

[N L oYW

TUOITTTIT O A=A van

REINFORCED PVC ROLLER

Gray PVC Roller with reinforced tubing inside to allow ten times the strength and rigidity of standard
rollers. Available in thru bore or blind bore.

OVERALL LENGTH—

[ [ g i 4

& SHAFT SIZE
s el e —{
B = -
Shaft Size Bearina Material _
PartNo. Description earing Wateria Bore Distance
” N Nylon Alloy B  Blind Between Fram
12 12 ames
916 916" U UHMW T Thru
58 5/8” (please specify)
34 3/4” l l j
Part l

Number CRAR20-

99



ROUND ROLLER SHAFT

Material: Made of 303 stainless steel, this roller shaft was designed for quick assembly of rollers

and frame together.

Shaft Size

22202025235

’111111/1777;\\7\\

::“uuu',“l.,!'
AT AN

AW
oA

SRRS————
*

Part No. Length Tap Shaft Size
TSE5242T350516 350" |5/16-18
TSE5242T35038 88.9mm | 3/3.16
TSE5242T425516 405 |5/16-18
TSE5242T42538 | 107.95mm| 3/3 16
TSE5242T475516 475 |5/16-18 10"
TSE5242T47538 | 120.65mm| 3/8.16 | 12.7mm
TSE5242T625516 65 |5/16-18
TSE5242T62538 | 158.75mm| 3/3 16
TSE5242T775516 2750 |5/16-18
TSE5242T77538 | 196.85mMm| 5,8 16

Part No. Length Tap | Shaft Size

3.50”
TSE5322T35038 886 mm
4.25
TSE5322T42538 | 107 o5 mm
475 5/8”
TSE5322T47538 | 02 | 8/8-16 | o e
6.25"
TSE5322T62538 | 1c0'7e
7.75"
TSE5322T77538 | 194 85 mm

10(



Usage:

@ SHAFT SIZE| ||
] *

Material:
Usage:

B

Light duty stub shaft used with a 5/16-16 x 3/4 hex bolt through the side of the frame;
designed for light duty applications; can run in dry or wet environments to provide a
totally maintenance-free service, to improve cleanliness, and to reduce noise levels

'

ACETAL STUB SHAFT

STUB SHAFT

Part No. A B C Shaft Size
.6875” .875” .750” 1/2”
TSES0012P | 17 46 mm | 2222 mm | 19.05 mm | 12.7 mm
Reinforced nylon
Bolt to outside of conveyor for easy removal of roller.
ﬁ B
-~ o~
[ O
/
I \\
[
.1 \ C
C1_ (O],
SHAFT \ /f
size
Part No. A B C Shaft Size
3.750” 1.250” 3.00” 1/2”
TSE500125 95.25mm | 31.75mm | 76.2 mm 12.7 mm

101



ACETAL STUB SHAFT

STUB SHAFT WITH ROUND BALL

Material: Stainless steel
Description: 3/8-16 thread, overall length 1 3/4”; 7/16” ball for 1/2” shaft size bearing

Part No.
TSES500716

WELELLREE ALV LELLTEL /

175

STUB SHAFT WITH INTERNAL THREADS

Material: Stainless steel
Description: 5/16 thread, overall length 1 3/4”; for 1/2” shaft size bearing

I 1.75in 1

\

Part No. -
5/16-18 UNC F0.625in
TSE50012SH -T\A/PQS%%%.:x(tg?'zsalo'") F0.781in
0.58in
0.50in ‘f—
’ i .
W e
e
/ / £ 7’

SECTION A-A

102



SPRING-LOADED HEX ROLL END BEARINGS

0.312in

n = @1.3Lin

= @1.08in

Part No. Shaft Size
TSE1040SLR516HSS 5/16"

562

Part No. Shaft Size
TSE1540SLR716HSS 7/16”

103



SPRING-LOADED HEX ROLL END BEARINGS

Part No.

TSE82412BB
TSE82412TB
TSE83312BB
TSE83312TB
TSE104038BB
TSE104038TB
TSE104012BB
TSE104012TB
TSE1040916BB
TSE1040916TB
TSE104938BB
TSE104938TB
tSE104912BB
TSE104912TB
TSE1049916BB

TSE1049916TB

TSE124012BB
TSE124012TB
TSE1240916BB
TSE1240916TB

TSE124058BB
TSE124058TB

Tubing
O.D.A

922

1.050

1.315

1.163

1.660

Tubing
Gauge B

3/4” EMT

3/4” SCH 40

1” SCH 40

1” EMT

11/4” SCH
40

Tubing
Wall

.049

113

133

.057

.140

.824

1.049

1.380

1/2”

3/8”

1/2”

9/16”

3/8”

1/2”

9/16”

1/2”

9/16”

5/8”

3/16”

1/4”

3/8”

1.375

1.060

Shaft
Length F

1.75

104



ROLL END BEARING

Material:  Nylon Alloy. Can withstand heat up to 149 degrees.

Part No.

TSE138012BB
TSE138012TB
TSE1380916BB
TSE1380916TB
TSE138058BB
TSE138058TB
TSE151612BB
TSE151612TB
TSE1516916BB
TSE1516916TB
TSE151658BB
TSE151658TB
TSE154012BB
TSE154012TB
TSE1540916BB
TSE1540916TB
TSE154058BB
TSE154058TB
TSE158012BB
TSE158012TB
TSE1580916BB
TSE1580916TB
TSE158058BB
TSE158058TB
TSE161012BB
TSE161012TB
TSE1610916BB
TSE1610916TB
TSE161058BB
TSE161058TB
TSE171612BB
TSE171612TB

Tubing
OD.A

1.510

1.500

1.900

1.740

1.750

Tubing
Gauge B

11/4” EMT

11/2” 16 GA

11/2” SCH 40

11/2” SCH 80

11/2” EMT

13/4” 16 GA

Tubing
Wall

.065

.145

.200

.065

Tubing
ID

1.380

1.370

1.610

1.500

1.610

1.620

Shaft
C

1/2”

9/16”

5/8”

1/2”

9/16”

5/8”

1/2”

9/16”

5/8”

1/2”

9/16”

5/8”

1/2”

9/16”

5/8”

1/2”

Hub

3/8”

1.060

Shaft
Length F

1.75

105



ROLL END BEARING

Part No.

TSE1716916BB
TSE1716916TB
TSE171658BB
TSE171658TB
TSE204038BB
TSE204038TB
TSE204012BB
TSE204012TB
TSE2040916BB
TSE2040916TB
TSE204058BB
TSE204058TB
TSE206738BB
TSE206738TB
TSE206712BB
TSE206712TB
TSE2067916BB

TSE2067916T

TSEE206758BB

TSE206758TB
TSE208038BB
TSE208038TB
TSE208012BB
TSE208012TB
TSE2080916BB

TSE2080916TB

Tubing
OD.A

1.750

2.375

2.197

2.375

Tubing
Gauge B

13/4” 16 GA

2" SCH 40

2" EMT

2" SCH 80

Tubing
Wall

.065

154

.065

.218

Tubing
ID

1.620

2.067

1.939

Shaft

9/16”

5/8”

3/8”

1/2”

9/16”

5/8”

3/8”

1/2”

9/16”

5/8”

3/8”

1/2”

9/16”

Hub

3/8”

1.060

1.125

1.060

Shaft
Length F

1.75

106



ROLL END BEARING

Part No. Tubing Tubing Tubing| Tubing | Shaft Hub E Shaft
O.D.A | GaugeB Wall ID C D Length F
TSE208058BB
2.375 2" SCH 80 218 1.939 5/8” 1.060
TSE208058TB
TSE221612BB 1/0"
TSE221612TB
TSE2216916BB
2250 | 21/4716 GA 2.120
TSE2216916TB 9/16”
TSE221658BB
TSE221658TB 5/8”
.065
TSE251612BB 1/0"
TSE251612TB
TSE2516916BB
21/2716 GA 2.370 9/16”
TSE2516916TB
TSE251658BB
5/8”
TSE251658TB
2.500 3/8” 1.250 1.75
TSE251812BB 1/0"
TSE251812TB
TSE2518916BB
21/2” 18 GA| .049 2.402 9/16”
TSE2518916TB
TSE251858BB
5/8”
TSE251858TB
TSE2750716BB
7/16”
TSE2750716TB
TSE275012BB 19"
TSE275012TB
2750 | 23/4”16 GA| .065 2.620
TSE2750916BB
9/16”
TSE2750916TB
TSE275058BB
5/8”
TSE275058TB
L o Part No. A B C D Shaft Size
TSE1412 1/14”
I ! .625 | .0545( 0.065 |1.400
N TSE51612 5/16”
Material:  Nylon Alloy. Can withstand heat up to 149 degrees.
Usage: For pinchain, press insert into one-piece nylon roll end bearing to reduce bore size.

107



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No.

TSEA154012GUTB

TSEA154012WUTB

TSEA154012GUBB

TSEA154012WUBB

TSEA1540916GUTB

TSEA1540916WUTB

TSEA1540916GUBB

TSEA1540916WUBB

TSEA154058GUTB

TSEA154058WUTB

TSEA154058GUBB

TSEA154058WUBB

TSEA154034GUTB

TSEA154034WUTB

L

|

L.

Insert
Material

Gray
White
Gray
White
Gray
White
Gray
White
Gray
White
Gray
White
Gray

White

Bore

Thru

Blind

Thru

Blind

Thru

Blind

Thru

Tubing
Gauge

11/2”
SCH 40

1.900

1.610

Tubing
Wall

145

Cc

1.180

D

.290

Shaft
Size

1/2”

9/16”

5/8”

3/4”

108



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Shell Bore | Tubing | O.D. | I.D. | Tubing C D | Shaft
Insert Gauge A B Wall Size
TSEA1540W12GUTB (W G
Thru
TSEA1540W12WUTB |W W
1/2”
TSEA1540W12GUBB (W G
Blind
TSEA1540W12WUBB (W W
TSEA1540W916GUTB (W G
Thru
TSEA1540W916WUTB|W W
9/16”
TSEA1540W916GUBB W G 112"
Blind SCH 40 1.900(1.610| .145 | 1.180 | .290
TSEA1540W916WUBB|W W
TSEA1540W58GUTB (W G
Thru
TSEA1540W58WUTB (W W
5/8”
TSEA1540W58GUBB W G
Blind
TSEA1540W58WUBB (W W
TSEA1540W34GUTB (W G
Thru 3/4”
TSEA1540W34WUTB (W W

TSEA = ABS outside shell (natural color) 1540 =1 1/2” SCH 40 W = white outside shell
34 = 3/4” shaft G = gray insert
T = thru-shaft bore B = blind bore (limited hole)

109



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Insert | Bore Tubing | O.D.| L.D. |Tubing C D |Shaft
Material Gauge A B Wall Size
TSEA158012GUTB Gray h
ru
TSEA158012WUTB | White 1o
TSEA158012GUBB Gray Blind
in
TSEA158012WUBB | White
TSEA1580916GUTB| Gray -
ru
TSEA1580916WUTB| White 11/2” i
SCH 80 1.900]|1.500| .200 | 1.180 |.290 |9/16
TSEA1580916GUBB| Gray Blind
in
TSEA1580916WUBB| White
TSEA158058GUTB Gray h
ru
TSEA158058WUTB | White £
TSEA158058GUBB Gray Blind
in
TSEA158058WUBB | White
Part No. Shell Bore Tubing O.D.| LD. | Tubing C D [Shaft
Gauge A B Wall Size
Insert
TSEA1580W12GUTB (W G
Thru
TSEA1580W12WUTB (W W
1/2”
TSEA1580W12GUBB (W G
Blind
TSEA1580W12WUBB (W W
TSEA1580W916GUTB|W G
Thru
TSEA1580W916WUTB W
w 11/2"
SCH 80 1.900|1.500| .200 | 1.180 (.290|9/16”
TSEA1580W916GUBB| W G
Blind
TSEA1580W916WUB (W W
B
TSEA1580W58GUTB (W G
Thru
TSEA1580W58WUTB (W W
5/8”
TSEA1580W58GUBB (W G
Blind
TSEA1580W58WUBB (W W

110



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Insert | Bore | Tubing | O.D. | I.D. | Tubing C D Shaft
Material Gauge A B Wall Size
TSEA204012GUTB Gray
Thru
TSEA204012WUTB | White
1/2”
TSEA204012GUBB Gray
Blind
TSEA204012WUBB | White
TSEA2040916GUTB | Gray
Thru
TSEA2040916WUTB| White
9/16”
TSEA2040916GUBB | Gray
Blind
TSEA2040916WUBB| White 2" SCH
40 2.375]12.067| .154 | 1.190 |.290
TSEA204058GUTB Gray
Thru
TSEA204058WUTB | White
5/8”
TSEA204058GUBB Gray
Blind
TSEA204058WUBB | White
TSEA204034GUTB Gray
: Thru
TSEA204034WUTB | White
3/4”
TSEA204034GUBB Gray
Blind
TSEA204034WUBB | White
Part No. Shell Bore | Tubing | O.D. | I.D. [ Tubing C D Shaft
Insert Gauge | A B Wall Size
TSEA2040W12GUTB W G
Thru
TSEA2040W12WUTB |W W
1/2”
TSEA2040W12GUBB W G
TSEA2040W12WUBB |W Blind
w 2" SCH
2 2.375(2.067( .154 | 1.190 |.290
TSEA2040W916GUTB|W 0
Thru
TSEA2040W916WUTB| W W
9/16”
TSEA2040W916GUBB| W G
Blind
TSEA2040W916WUBB| W

111



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Shell Bore | Tubing | O.D. | I.D. | Tubing C D Shaft
Insert Gauge | A B Wall Size
TSEA2040W58GUTB |W G
Thru
TSEA2040W58WUTB | W W
5/8”
TSEA2040W58GUBB | W G
TSEA2040W58WUBB | W Blind
W 2"SCH |5 375 2.067| .154 | 1.190 | .290
20 : : . : .
TSEA2040W34GUTB |W G
Thru
TSEA2040W34WUTB | W W
3/ ”
TSEA2040W34GUBB |W e
Blind
TSEA2040W34WUBB | W
Part No. Insert | Bore | Tubing | O.D. | I.D. |Tubing C D Shaft
Material Gauge A B Wall Size
TSEA208012GUTB Gray
. Thru
TSEA208012WUTB White
1/2”
TSEA208012GUBB Gray
Blind
TSEA208012WUBB | White
TSEA2080916GUTB | Gray
Thru
TSEA2080916WUTB| White
9/16”
TSEA2080916GUBB | Gray
Blind
TSEA2080916WUBB| White 2" SCH
80 2.37511.939| .218 1.190 |.290
TSEA208058GUTB Gray
Thru
TSEA208058WUTB | White
5/8”
TSEA208058GUBB Gray
Blind
TSEA208058WUBB White
TSEA208034GUTB Gray
Thru
TSEA208034WUTB White
3/4”
TSEA208034GUBB Gray
Blind
TSEA208034WUBB White

112



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Shell Bore | Tubing | O.D. | I.D. |Tubing| C D Shaft
TSEA2080W12GUTB |W G
Thru
TSEA2080W12WUTB |W W
1/2”
TSEA2080W12GUBB |W G
Blind
TSEA2080W12WUBB | W W
TSEA2080W916GUTB | W G
Thru
TSEA2080W916WUTB|W W
9/16”
TSEA2080W916GUBB | W G
Blind
TSEA2080W916WUBB| W
w 2" SCH
80 2.37511.939| .218 | 1.190(.290
TSEA2080W58GUTB | W G
Thru
TSEA2080W58WUTB | W W
5/8”
TSEA2080W58GUBB | W G
Blind
TSEA2080W58WUBB | W W
TSEA2080W34GUTB |W G
Thru
TSEA2080W34WUTB | W W
3/ ”
TSEA2080W34GUBB |W G
Blind
TSEA2080W34WUBB | W W
Part No. Insert | Bore | Tubing [ O.D.| I.D. [Tubing| C D Shaft
Material Gauge A B Wall Size
TSEA254012GUTB Gray h
ru
TSEA254012wWUTB White 1o
TSEA254012GUBB Gray Blind
in
TSEA254012WUBB | White 21/2” . .
SCH 40 2.875]2.469| .203” [1.300”|.330
TSEA2540916GUTB | Gray h
ru
TSEA2540916WUTB | White .
TSEA2540916GUBB | Gray Blind
in
TSEA2540916WUBB | White

113



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Insert | Bore | Tubing | O.D. | I.D. | Tubing C D [Shaft
Material Gauge A B Wall Size
TSEA254058GUTB Gray
Thru
TSEA254058WUTB | White
5/8”
TSEA254058GUBB Gray
Blind
TSEA254058WUBB | White 21/2"
SCH 40 2.875(2.469| .203 | 1.300 |.330
TSEA254034GUTB Gray
Thru
TSEA254034WUTB | White .
3 ”
TSEA254034GUBB Gray ind
Blin
TSEA254034WUBB | White
Part No. Shell Bore | Tubing | O.D. | I.D. |Tubing C D |Shaft
Gauge A B Wall Size
Insert
TSEA2540W12GUTB |W G
Thru
TSEA2540W12WUTB | W W
1/2”
TSEA2540W12GUBB |W G
Blind
TSEA2540W12WUBB | W W
TSEA2540W916GUTB| W G
Thru
TSEA2540W916WUT |W W
B 9/16”
TSEA2540W916GUBB| W G
Blind
'FI;SEA254OW916WUB w W 0 170" ” ”
SCH 40 2.875(2.469| .203” | 1.300” | .330
TSEA2540W58GUTB |W G
Thru
TSEA2540W58WUTB | W W
5/8”
TSEA2540W58GUBB |W G
Blind
TSEA2540W58WUBB | W W
TSEA2540W34GUTB |W G
Thru
TSEA2540W34WUTB | W W
3/ ”
TSEA2540W34GUBB |W G
Blind
TSEA2540W34WUBB | W w

114



ABS ROLL END BEARING FOR PVC PIPE

Insert: Gray bearing insert (G) is lubricated UHMW; white bearing insert (W) is natural UHMW.
Thru-hole bearing insert is indicated by TB; blind-bore bearing insert is indicated by BB.

Part No. Insert Bore | Tubing | O.D. | I.D. | Tubing C D |Shaft
Material Gauge A B Wall Size
TSEA304012GUTB Gray
TSEA304012WUTB | White
1/2”
TSEA304012GUBB Gray
Thru
TSEA304012WUBB | White
TSEA3040916GUTB| Gray
TSEA3040916WUTB| White 3" SCH
40 3.500|3.068| .432 1.290 (.330]9/16”
TSEA3040916GUBB| Gray
Blind
TSEA3040916WUBB| White
TSEA304058GUTB Gray
Thru
TSEA304058WUTB | White o
5 ”
TSEA304058GUBB Gray ind
Blin
TSEA304058WUBB | White
Part No. Shell Bore | Tubing | O.D. | L.D. | Tubing C D |Shaft
Gauge A B Wall Size
Insert
TSEA3040W12GUTB |W G
Thru
TSEA3040W12WUTB |W W
1/2”
TSEA3040W12GUBB |W G
Blind
TSEA3040W12WUBB |W W
TSEA3040W916GUTB|W G
Thru
TSEA3040W916WUTB| W W 512"
SCH 40 2.87512.469| .203 1.300 |.330(9/16”
TSEA3040W916GUBB|W G
Blind
TSEA3040W916WUBB| W W
TSEA3040W58GUTB | W G
Thru
TSEA3040W58WUTB | W W
5/8”
TSEA3040W58GUBB | W G
Blind
TSEA3040W58WUBB | W

115



NYLON ROLL END FOR METAL TUBING

Gray Roller End with white UHMW insert

Material:
[ C ——
—D-D‘—
T 1 I / /\“
‘\ : ' ‘ T — — . / /q
k'\ Bpiiiii\ <<J/>
"\,\ L I N
‘ L \\,///
Part No. Tubing Tubing Tubing Tubing Shaft Hub
OD.A Gauge B Wall ID Insert
TSE1380S12TB
1/2”
TSE1380S12BB
TSE1380S916TB
151 11/4” 16 GA 1.380 9/16”
TSE1380S916BB
TSE1380S58TB
5/8”
TSE1380S58BB
TSE1610S12TB
1/2”
TSE1610S12BB
TSE1610S916TB
1.75 11/2” 16 GA .065 1.610 9/16” 375
TSE1610S916BB
TSE1610S58TB
5/8”
TSE1610S58BB
TSE2016S12TB
1/2”
TSE2016S12BB
TSE2016S916TB
2.00 2”16 GA 1.870 9/16”
TSE2016S916BB
TSE2016S58TB
5/8”
TSE2016S58BB

116



NYLON ROLL END FOR METAL TUBING

Gray Roller End with white UHMW insert

Material:
*C)
S D DR
| /’r\\
[ = :
1 i fa N ‘
N B V4 :
L/ S~
Part No. Tubing Tubing Tubing Tubing Shaft Hub
OD.A Gauge B Wall ID Insert
TSE2067S12TB
1/2”
TSE2067S12BB
TSE2067S916TB
2.197 2" EMT 2.067 9/16”
TSE20675916BB
TSE2067S58TB
5/8”
TSE2067S58BB
.065 375
TSE2216S12TB
1/2”
TSE2216S12BB
TSE2216S916TB
2.250 21/4” 16 GA 2.120 9/16”
TSE22165916BB
TSE2216S58TB
5/8”
TSE2216S58BB

117



NYLON ROLL END FOR METAL TUBING

Gray Roller End with white UHMW insert

COMBINER ROLLER
Materidr  Acetal

Part No. A B C D E F
TSE77014 .635 .250 175 .260 .335 .050

TUBE CAP

Material: ABS plastic
Usage: Serves as a smooth plastic cap. Practical and aesthetic plug cover for ends of square
tubing.

Part No. Tube Size
TSE5601.511 1.50" x .120
Square
TSE5601.516 1'580(;uxa'r265
TSE5602.011 2.080(;uxa.ézo

118



Reinforced nylon with brass insa“_tH R EA D E D TU B E E N D

Material:
Usage: Conveyor and machinery support for use with all TSE levelers.
Part No. Tube Thread B C L S Max. Load
Size Size
3/8-16
1.00” x .065
TSE6001638 Square 1.0 | 1.00 | 1.23].970| 1000 Ibs.
1.00” x .065 10 mm
TSE6001610m Square 1.0 | 1.00 | 1.23|.970| 1000 Ibs.
TSE6011112 1/2-13
TSE6011158 . 5/8-11
TSE6011134 1'530 uxa.éZO 3/4-10 | 15 | 126 | 1.7 | 1.38| 1000 Ibs.
TSE6011116m q 16mm
TSE6011120m 20mm
TSE6011612 , 1/2-13
TSE6011658 1.50 x 065 |\ 5811
TSE6011634 150" x 075 3/4-10 15 | 1.37 | 1.7 | 1.38 1000 Ibs.
TSE6011616m Square 16mm
TSE6011620m q 20mm
TSE6021112 \ 1/2-13
TSE6021158 2.00 X 109 | 5811
TSE6021134 200" x 120 3/4-10 2 1.78 2 | 158 1750 Ibs.
TSE6021116m Square 16mm
TSE6021120m q 20mm

119



THREADED TUBE EN
THREADED TUBE END

Material:  Reinforced nylon with brass insert.

Material: Reinforced nylon with brass insert.
Usage: Conveyor and machinery support for use with all TSE levelers.

D

e
T
— _4‘_ _"
N 1y
Part No. Tube Thread Size B C L S Max. Load
Size
TSE6041612 1/2-13
TSE6041658 , 5/8-11
TSE6041634 2.0&)056365 3/4-10 2 | 176 | 2 |157| 17501bs.
TSE6041616m 16mm
TSE6041620m 20mm

Part No. Tube Size Thread Size | B2 Cc2 L S Max. Load
TSE6052x316 2y 3 16mm
%E%Eéiiéﬁ 11 Gauge %@ nﬁ1 3 2 2 157 1750Ibs.
TSE6052x358 Rectangle 78"

120



2” ADJUSTABLE LEVELER W/ HEX METAL BALL

Usage: Conveyor and machinery support.
Maximum Load: 700 Ibs.

i i UNG

L. Dim

|

—

[l

i

|

i

Il

@

e

I

|

|

—

Il

!

[

VAa \\ %
{ % (41—
-

2.00 *J

A
=

Part Number

With Vibration Pad

Without Vibration Pad

Thread
Size

SS

Dim.

TSESOH702P338SS

TSESOH702338SS

TSESOH702P312SS

TSESOH702312SS

1/2-13

TSESOH702P358SS

TSESOH702358SS

5/8-11

3.89”

121



2” ADJUSTABLE LEVELER W/ HEX METAL BALL

RALLAAALALRALALRARA

LLALAL

“L" Dim. -
B
@2.42in —
Part Number Thread Zinc- SS L
Size Plated Dim.
TSESOH701558SS 6.22”
5/8-11
TSESOH701858SS 0
TSESOH701834SS 3/4-10
TSESOH701558PL 7.71
5/8-11
TSESOH701858PL 0
TSESOH701834PL 3/4-10
Level-Lock Levelers Thread Zinc- SS L
Size Plated Dim.
TSESOHL701558SS 6.22”
5/8-11
TSESOHL701858SS 1]
TSESOHL701834SS 3/4-10
TSESOHL701558PL 7.71
5/8-11
TSESOHL701858PL 0
TSESOHL701834PL 3/4-10

122



3” ADJUSTABLE LEVELER W/ HEX METAL BALL

Usage: Conveyor and machinery support
Maximum Load: 1400 Ibs.
||
||
|
_ ||
L. Dim. ‘ ‘
||

\ |
# BASE O.D. LF

I

~

Part Number Thread Zinc- SS L
Size Plated Dim.
With Lag Holes Without Lag Holes
TSES2H703338PL TSESOH703338PL 0
3/8-16
TSES2H703338SS TSESOH703338SS 0
3.89”
TSES2H703312PL TSESOH703312PL 0
TSES2H703312SS TSESOH703312SS 1513 0
TSES2H703512PL TSESOH703512PL 1]
6.10”
TSES2H703512SS TSESOH703512SS 1]
TSES2H703358PL TSESOH703358PL 0
TSES2H703358SS TSESOH703358SS 0 3.89
5/8-11
TSES2H703558PL TSESOH703558PL 0
6.10”
TSES2H703558SS TSESOH703558SS 0
Metric Thread Zinc- SS L
Size Plated Dim.
With Lag Holes Without Lag Holes
TSES2H7033M10P TSESOH7033M10P O
10mm
TSES2H7033M10S TSESOH7033M10S 3.89”
0
TSES2H7033M16S TSESOH7033M16S 16mm

123



3” ADJUSTABLE LEVELER W/ HEX METAL BALL

Usage:
Maximum Load:

Conveyor and machinery support
1400 Ibs.

T

(e

¥

B

L. Dim.

\ |
— BASE O.D. -

Part Number

Thread Zinc- SS L
With Lag Holes Without Lag Holes Size Plated Dim.
TSES2H704712PL TSESOH704712PL 1/2-13
TSES2H704758PL TSESOH704758PL 5/8-11 7.68”
TSES2H704734PL TSESOH704734PL |
TSES2H7041034PL TSESOH7041034PL 3/4-10 10.68”
TSES2H704712SS TSESOH704712SS 1/2-13
TSES2H704758SS TSESOH704758SS 5/8-11 7.68”
TSES2H704734SS TSESOH704734SS :
TSES2H7041034SS TSESOH7041034SS 3/4-10 9.45”
TSES2H70471.00PL | TSESOH70471.00PL I )
TSES2H70471.00SS TSESOH70471.00SS a 708
TSES2H704101.00PL | TSESOH704101.00PL 8 a )
TSES2H704101.00SS | TSESOH704101.00SS 0 545
Metric Thread Zinc- SS L
With Lag Holes Without Lag Holes Size Plated bim.
TSES2H7047M16S TSESOH7047M16S 16mm i
TSES2H7047M20S TSESOH7047M20S 20mm . 768

124



4” ADJUSTABLE LEVELER W/HEX METAL BALL

Usage: Conveyor and machinery support
Maximum Load: 2600 Ibs.

(R

AR

L. Dim.

| |
»‘ BASE O.D. LF

Part Number Thread Zinc- SS L
- Size Plated Dim.
With Lag Hole
TSES1H704712PL 1/2-13
TSES1H704758PL 5/8-11 7.68”
0
TSES1H704734PL
3/4-10
TSES1H7041034PL 10.68”
TSES1H704712SS 1/2-13
TSES1H704758SS 5/8-11 7.68”
TSES1H704734SS 1]
3/4-10
TSES1H7041034SS
TSES1H70471.00SS
TSES1H70471.00PL L8 1] 9.45”
TSES1H704101.00SS 0
TSES1H704101.00PL 1]
Metric Thread Zinc- SS L
- Size Plated Dim.
With Lag Hole
TSES1H7047M16S 16mm . 7.68”
TSES1H70410M20S 20mm 9.45”

125



4” ADJUSTABLE LEVELER W/HEX METAL BALL

Usage:

Maximum Load: 2600 Ibs.

Conveyor and machinery support

_ll—ﬁ

L. Dim.

Vgﬁ

P |
4 BASE O.D. L

Part Number Thread Zinc- SS L
Size Plated Dim.
With Skinned-Over Lag Holes
TSES4H704712PL 1/2-13
TSES4H704758PL 5/8-11 7.68”
0
TSES4H704734PL
3/4-10
TSES4H7041034PL 10.68”
TSES4H704712SS 1/2-13
TSES4H704758SS 5/8-11 7.68”
0
TSES4H704734SS
3/4-10
TSES4H7041034SS 10.68”
Metric Thread Zinc- SS L
i PI Dim.
With Skinned-Over Lag Holes Size ated 'm
TSES4H7047M16S 16mm . 7 68"
TSES4H7047M20S 20mm '

126



4” LEVEL-LOCK LEVELER W/ HEX METAL BALL

Conveyor and machinery support.
2600 Ibs.
With bolt in bottom to resist pull out of stem

Usage:
Maximum Load:
Level-Lock Leveler:

T
'/

([

asas

{

I

(I

I

2999

(

l

(CCRARC

%
i
=

TSES1HL70410M20PL

TSES2HL70410M20PL

TSES4HL70410M20PL

TSES1HL70410M20SS

TSES2HL70410M20SS

TSES4HL70410M20SS

Part Number Thread | Zinc | SS L.
Skinned-Over Lag Size Dim.
With 1 Lag Hole With 2 Lag Holes Holes
TSES1HL704512PL TSES2HL704512PL TSES4HL704512PL 0 .,
TSES1HL704512SS TSES2HL704512SS TSES4HL704512SS 1213 0 >73
TSES1HL704558PL TSES2HL704558PL TSES4HL704558PL 0 i
TSES1HL704558SS TSES2HL704558SS TSES4HL704558SS 0 615
TSES1HL704758PL TSES2HL704758PL TSES4HL704758PL S/ 0 .,
TSES1HL704758SS TSES2HL704758SS TSES4HL704758SS 0 768
TSES1HL704534PL TSES2HL704534PL TSES4HL704534PL 0 .,
TSES1HL704534SS TSES2HL704534SS TSES4HL704534SS 0 615
TSES1HL704734PL TSES2HL704734PL TSES4HL704734PL 1] i
TSES1HL704734SS TSES2HL704734SS TSES4HL704734SS 3/4-10 0 768
TSES1HL7041034PL |TSES2HL7041034PL | TSES4HL7041034PL 1] i
TSES1HL7041034SS | TSES2HL7041034SS | TSES4HL7041034SS 0 995
TSES1HL70471.00PL | TSES2HL70471.00PL | TSES4HL70471.00PL I ,
TSES1HL70471.00SS | TSES2HL70471.00SS | TSES4HL70471.00SS I 768
TSES1HL704101.00PL| TSES2HL704101.00PL | TSES4HL704101.00PL 1]
TSES1HL704101.00SS| TSES2HL704101.00SS| TSES4HL704101.00SS 18 I 9.95"

127



4” LEVEL-LOCK LEVELER W/ HEX METAL BALL

Usage: Conveyor and machinery support.

Maximum Load: 2600 Ibs.

e

C~—

"L" Dim

DAL W A

., - U

2.76in

R0.78in

@1.18in
Part Number Thread Zinc- SS L
Size Plated Dim.
TSETD704734PL 3/4-10
TSETD70471.00PL 1-8
0
TSETD70471.13PL 1 1/8-7
TSETD70471.25PL 1 1/4-7
7.25”
TSETD704734SS 3/4-10
TSETD70471.00SS 1-8
0
TSETD70471.13SS 1 1/8-7
TSETD70471.25SS 1 1/4-7

128



5” ARTICULATING LEVELER W/ HEX METAL BALL

Usage: Conveyor and machinery support.
Maximum Load: 7000 Ibs.
Thread -:
Size

|
|

4.84

L Dim

T

e LT

Part Number Th(ead Zinc- SS L
With No Lag Holes Size Plated Dim.
TSESOH513534PL 0 7 03"
TSESOH513534SS 1] '
TSESOH513734PL 0
3/4-10 8.55”
TSESOH513734SS 1]
TSESOH5131034PL 0
10.83”
TSESOH5131034SS 1]
TSESOH51371.00PL 0 8.55"
TSESOH51371.00SS L8 1] '
TSESOH513101.00PL 0
TSESOH513101.00SS q 10.83”
TSESOH51310M20SS 20mm
Part Number Th(ead Zinc- SS L
With No Lag Holes Size Plated Dim.
TSESOH518734PL 0
3/4-10
TSESOH518734SS 1]
TSESOH51871.00PL 18 0
TSESOH51871.00SS O £ 83"
TSESOH51871.13PL 0 '
11/8-7
TSESOH51871.13SS O
TSESOH51871.25PL 0
11/4-7
TSESOH51871.25S5S O

129



5” ARTICULATING LEVELER W/ HEX METAL BALL

Usage: Conveyor and machinery support.

Maximum Load:
Level-Lock Leveler:

7000 Ibs.
With bolt in bottom to resist pull out of stem.

Thread

Size ﬂ\\

O/
_ O
L Dim
2.61
, 484
Part Number Thread Zinc- SS L
Size Plated Dim.
With Lag Holes Without Lag Holes
TSEH705534PL TSE705534PL 1] -
TSEH705534SS TSE705534SS 0 '
TSEH705734PL TSE705734PL 1]
3/4-10 7.50”
TSEH705734SS TSE705734SS 0
TSEH7051034PL TSE7051034PL 1] 10.07"
TSEH7051034SS TSE7051034SS 0 '
TSEH70571.00PL TSE70571.00PL 1] 7 45"
TSEH70571.00SS TSE70571.00SS 0 '
TSEH705101.00PL TSE705101.00PL 0
1-8 10.07”
TSEH705101.00SS TSE705101.00SS 0
TSEH705121.00PL TSE705121.00PL 1] 9
11.95”
TSEH705121.00SS TSE705121.00SS O
TSEH70571.13PL TSE70571.13PL 0 A
7.45”
TSEH70571.13SS TSE70571.13SS 8 1]
11/8-7
TSEH705101.13PL TSE705101.13PL 1] 9.95"
TSEH705101.13SS TSE705101.13SS 1] '

130



5” LEVELER WITH METAL STEM

Usage: Conveyor and machinery support.
Maximum Load: 7000 Ibs.
Level-Lock Leveler:  With bolt in bottom to resist pull out of stem.

fi-hoy o
O/
_ e
L Oim
I
f 484
Part Number Thread Zinc- SS L
Size Plated Dim.
With Lag Holes Without Lag Holes
TSEH70512113PL TSE70512113PL 0
11/8-7 11.95”
TSEH70512113SS TSE70512113SS 0
TSEH70571.25PL TSE70571.25PL 0
7.45”
TSEH70571.25SS TSE70571.25SS 1]
TSEH705101.25PL TSE705101.25PL 0
11/4-7 9.95”
TSEH705101.25SS TSE705101.25SS 0
TSEH705121.25PL TSE705121.25PL 0
11.95”
TSEH705121.25SS TSE705121.25SS 0
Metric Thread Zinc SS L
. ) Si Plated Dim.
With Lag Holes Without Lag Holes '2€ ate 'm
TSEH7057M20P TSE7057M20P 0 248"
TSEH7057M20S TSE7057M20S '
20mm 0
TSEH70510M20S TSE70510M20S 10.07"
TSEH70510M20P TSE70510M20P 0 '

131



5” LEVELER WITH METAL STEM

Usage: Conveyor and machinery support.
Maximum Load: 7000 Ibs.

1.64in
f ¥
0.96in 4
Part No. Thread SS | %8ln
Size *
TSES4H704BS58 5/8-11 I:l B 10in
TSES4H704BS34 3/4-10

@2.L:10in
0.937in

0.215in
@0.937in [ [ . l

L E S

p—
< —

132



CUSTOM LEVELER QUOTE REQUEST

Need a special leveler? Not a problem! TSE is happy to provide a customized quote to
manufacture levelers that will meet your unique needs. Please fill out the form below and fax it
to us (727-540-1255). For help in filling out this form, please call us toll-free at 800-237-7634

Point of Contact
Company Name
Address
City State ZIP
Phone ( ) Fax ( )

Email

Check the box next to the leveler to be customized:

] ! !
L. Dim. L. Dim. } L. Dim. }
| |
| |
! !
X \ \! : -": 1 L : — 1 = : =
—— L orsf o0, - L onst o0, -
» 2 TSE703 2 TSE704
TSE70
2
Choose Your Modifications:
Base Material: - Reinforced Polyamide = Reinforced polypropylene

Base Configuration: . Standard = Urethane filled
Number of Lag Holes Desired: 0 >1 »>2

Vibration Pads Needed: . yes > No

Stem Material: .3 plated steel 304 stainless steel > 316 stainless steel

Stem Requirements:  oyerall leveler height (L)
Thread diameter
= Screwdriver slot (min. 100 pieces ordered)
= Wrench Flat (min. 100 pieces ordered)

Other:

133



Quantity Desired: This order:

Delivery Date Requested: Annually:

134



3.46

-—2.56 —

Part No. Pipe Size Tube Size
TSE3081.50 11/2”
TSE308T2.0 2 (OD)

Material:

SIDEMOUNT POST CAP

Reinforced nylon with stainless steel fasteners

I
Part No. Pipe Size Tube Size
TSE3051.50 11/2”
TSE305T2.0 2 (OD)

135



BIPOD

Material: Reinforced nylon with stainless steel fasteners

@315

7.28

3194
3

Fer———
il i

DIA 16.93
DIA 15.75
Part No. Pipe Size Tube Size
TSE4021.558 11/2”
TSE402T2.058 2 (OD)

BIPOD WITH CROSSTIE

Material: Reinforced nylon with stainless steel fasteners

@3.15

Q

394

DIA 16.93 !

DIA 15.75
d

N,

T g Part No. Pipe Size Tube Size
e o3 TSE4031.558 11/2"
dl
TSE403T2.058 2 (OD)

136



-2 @?3.15 e 120°

3/8 Hex Hd
Cap Screw

Part No. Pipe Size Tube Size
TSE4101.558 11/2”
TSE410T2.058 2 (OD)

WARRANTY DETAILS

The information given herein is believed to be reliable. No representations, guarantees,
or warranties of any kind are made as to its accuracy, suitability for particular applications,
or the results to be obtained therefrom. The information is based on laboratory work with
small scale samplings of stock material. Particular conditions of use and reasonable
lottolot variations can affect performance.

Our customers should perform their own tests to determine the suitability of any product
for their particular purposes. The products in this catalog are warranted to be free from
any defect in material and workmanship when delivered. They are otherwise SOLD
WITHOUT WARRANTY, EITHER EXPRESSED OR IMPLIED, INCLUDING ANY
WARRANTY, MERCHANTABILITY, OR FITNESS FOR A PARTICULAR PURPOSE.

Buyer assumes all responsibility for loss or damage arising from the use of our
products, whether or not used in accordance with our directions. We shall, in any event,
not be liable for incidental or consequential damages. Our sole responsibility shall be to
replace any product proven to be defective when delivered. Statements concerning the
possible uses of our products are not intended as recommendations to use our products
in the infringement of any patent or trademark.

75¢ Co.

136





